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PHYSICS | st s

Which of the following can be the angular momentum of an
electron orbiting in a hydrogen atom?

(1L
@) 3
®)
@) 2
Circumference of orbit of an excited state of electron in H

like atom is C. The de-Broglie wavelength associated with
the orbitis

@ c

@<

w|Q

®3)
4)

If 200 MeV energy is released in the fission of a single

o)

23 . . . .
nucleus of 925U, the fissions which are required per second

to produce a power of 1 kW is
(1) 1.25 x 1011

(2) 3.125 x 1013

(3) 2.25 x 1014

(4) 6.25 x 1013

frafafea 3§ & o sgom o § oA 9 <@ fheht
STTCI T BT TR &Y FhelT 52

(1L
(2) 3
3)
@

H T ORATY] A Sordrg i i fachiar STford srawe 6t sar df aRkfa
C BI P& § Irag SI-8lef areey &

@c

@<

|

©)
“4)

o)

RIS zzsu, & Tebe 11e o fRgue # 200 MeV Iwif I &l &,
9 1 KW 9Tfth S R & T U Jehus 3Mmaedes faRgus &

(1) 1.25 x 1011
(2) 3.125 x 1013
(3) 2.25 x 1014

(4) 6.25 x 1013
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In an experiment of photoelectric effect, the maximum
kinetic energy Ek of the emitted photoelectron is plotted

against the frequency v of the incident photon as shown in
the figure. The slope of the curve gives

EKA

S

il
v

(1) Charge of the electron

(2) Work function of the metal

(3) Planck’s constant

(4) Ratio of the Planck’s constant to electronic charge

The de-Broglie wavelength of an atom of mass m at
absolute temperature T K will be (K is Boltzmann constant)

Q) =

h

(2) \/SmKT
(3) \/SmKT
h

(4) \/3mKT

Figure shows some energy levels of an electron in H-atom
E,
EE
E,
E,
EZ
E,

Which among the following transitions produces photon of
wavelength in visible region of electromagnetic spectrum?

(1)E2-Eq
(2)Ez-E2
(3) Es—E4
(4)Ee-Es5

Tl I TTa & U TN H, REFER Scafotd UaTfid eldg
B Sfdeped TS o1l E T STUfid BISH 6 3T v &b Hed
a1 A fobar T 21 95p Y &1t | T BT B

EK M
\”
(1) ST BT 3T
(2) 9T BT PRIBT
(3) i (RRI®
(4) T [EORTe g gerar i JATILT T SFIUT

TRAAY T K TR S&HM m & & AT 6 S-5iTeft awneed arft (K
Alego I i 8)

1) =
h
N
(8) (ST
h
(4) \/3mKT
for o H-0RATY] 5 U SoTae ™ & o ol TR ey 1 §
E.
Es
E,
E,
Ez
E,

71 & ¥ BT HehrvT Rgagradhiy Wagd & 327 &7 F ey
BT DICH I IR 872

1) Ex-E1

(2) E3-E2

() Es-E4

(4)Ee-Es
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The radius of a spherical nucleus as measured by electron
scattering is 3.6 fm. What is the likely mass number of the

nucleus? (use R = ROA%, where Rg = 1.2 fermi)
1) 27

(2) 40

(3) 56

(4) 120

In a full wave rectifier circuit operating from 50 Hz mains
frequency, the ripple frequency in output would be

(1) 50 Hz
(2) 25 Hz
(3) 100 Hz
(4) 707 Hz

Read following statements A and B carefully and choose
the correct option

Statement A: In Thomson’s model, an atom is a spherical
cloud of positive charges with electrons embedded In it.
Statement B: In Rutherford’s model, most of the mass of
the atom and all its positive charges are concentrated in a
tiny nucleus (typically one by ten thousand the size of an
atom), and the electrons revolve around it.

(1) Only statement A is correct
(2) Only statement B is correct
(3) Both the statements A and B are correct

(4) Neither statement A nor B is correct

SIS MehIvi GRT AT TS T MATBR A1 B o 3.6 fm Bl
I¥eh &t FHTIT SeaT EReaT F1 82 (R = RoA” &1 SN &Y,
&R = 1.2 %)

(1) 27

(2) 40

(3) 56

(4) 120

50 Hz 9% 3Tgfl & Farferd Ua guf ao fewasrt ufvuer F, frfa o
SHfet agfil et

(1) 50 Hz

(2) 25 Hz

(3) 100 Hz

(4) 707 Hz

Il HUFT A 3R B 31 e I u$ iR W& fdded o1 9o
G

DY A: AT HiSel H, U GRHATY] G ST BT U MNeAThR
31y BT 8, fSaH Selag ™ o 8 &

DY B: DI A1ee H, WA BT AfSehier G iR 3HD it
gD AT Th BIC 1M (AFTIa: 1/10000 WA & ATHR
&) H Hebfoe 81 5 IR Serag i 6P AR IR Tl P 2

(1) PacT HAT A TE &

(2) Hdel B B TE B

(3) AR B aFI HeF HEI &

(4) T BT A SR EN B HE &
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10.

11.

12.

A plot between the angle of deviation and angle of
incidence for a prism is shown in the figure. From the
graph one can say that the refracting angle of prism is

A

90—+

N

35° 957

(1) 40°
(2) 46°
(3) 48°
(4) 50°

In an experiment to measure diameter of a wire, a vernier
calliper is used in which 9 main scale divisions of the
calliper coincide with 10 vernier scale divisions. One main
scale division is 2 mm. When nothing is in between the
jaws, it is found that zero of vernier lies slightly to the left of
zero of main scale and 5th division of vernier scale
coincides with some division of main scale. The zero error
has a magnitude of

(1) 1 mm

(2) 1.2 mm
3) 1.4 mm
(4) 0.8 mm

The radioactive radiations are emitted in the reaction given
below. The correct sequence is

AX = 575V = J W o W
1) a, B~
@8, ay
@) a, v, B~

@) a, B,y

10.

11.

12.

fE A e T & AT famaa o @i sua @ior & 99 T
S9TTIT AT &1 TTh I B9 P8 Thd & fob BISH T ST HIvT &
O

90°——4

N

35° 55°

(1) 40°

(2) 46°

(3) 48°

(4) 50°

Ueh AR 1 @R 4T & foIT b 1Y Tep sRiNT o, Tep iR bfeior
&1 TN R i & o iR & 9 q'd 9w 9, afR
U & 10 W & HUTCH 81 Ueh g ST IR 2 mm B 979 STae)
% d9 go +ff 7€ 2, I9 Ig IR A1 g b af R a1 g, 7=
T & g & el aRff o R & ofR affar Yo &t 5af 9,
%I U & PO T & FUTeh 81 L 3T 1 aRAT 8

(1) L mm

(2) 1.2 mm

3) 1.4 mm

(4) 0.8 mm

g arfrfrar § MSanfaeg fafhwol Scafcla B &1 98 3 &
4X — SAY o W o W

@ a B

@B, a,y

3 a, v, B~

@) o, B,y
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13.

14.

15.

Some V-I characteristics of special purpose diodes are
given in column-l and the name of the diodes are given in
column-Il. Match the column-I with column-II.

Column-I Column-Ii

P. Zener diode

V' Q. solar cell

R. LED

R

IS

>V S. Photodiode

;

(1)A-RB-PC-QD-S
(2)A-SB-RC-QD--P
3)A-PB-QC-RD-S
(49A-RB-QC-SD-P

(12

Three a-particles fuse to form a carbon (;C) nucleus. If

m <:He> =4.002603 amu, then the energy released in this

reaction is nearly
(1) 16.52 MeV
(2) 7.27 MeV

(3) 0.73 MeV

(4) 1.27 MeV

Which of the following option is incorrect?

Pure silicon doped with trivalent impurity gives p-type
semiconductor

)

Majority charge carriers in p-type semiconductor are
holes

@

Minority charge carriers in n-type semiconductor are
holes

©)

The resistance of intrinsic semiconductor increases
with increase of temperature

4)

13.  Fier-1 7 fafire TR Srite & $B V-1 arfrererfiie g 7y & qer

14.

15.

PicTT-Il § SRS P M U T &1 DicTH-1 TAT Dietd-1l BT AT
AN

DicTH-| DieT-II
I
A. P. IR SErE
v
/
B V Q. ERIa
/
c vV R.LED
I
D. <> v S. BICIsSHlsS

(1)A-RB-PC-QD-S
2)A-SB5RC-QD-P
3)A-PB-QC-RD-S
(4)A-R,B-QC-SD-P

T -7 AR BlehR Ueb T (2 c) A1fep i vl €1 A
m <2H6> =4.002603 amu, d9 9 3R 9 IfSid Soff

ST

(1) 16.52 MeV
(2) 7.27 MeV
(3) 0.73 MeV
(4) 1.27 MeV

= o ¥ P11 B T 872

BRI g & T AIRT gg e I p-yeR @1 3rg
TTeTeh UTH BIT &

(2) p-TPR & 3F T H TEEHEID I AT B BT &
(3) N-UBR & 3G AAD H SFCHHEID I A6 8lel 81 &
(4) IS SrgETeTs T HfeRIe A1 ¥ gfe BRA W dod &

)
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16.

17.

18.

19.

When the momentum of a proton is increased by an
amount Pg, the corresponding change in de-Broglie

wavelength is found to be 10%.Then the original
momentum of the proton was

(1) 3Po
(2) 9Po
(3) 10Pg
(4) 5Po

In the circuit shown, the potential drop across Cq and C2
are respectively (assuming the two diodes are ideal)

Il [ il
1T =1
C,=4uF

E=24V—/ D, = C,=8yF
@Q)2v,1v
(2)3V,9V
(3)16V,8V
4)2Vv,8V

Assertion (A): In the Lyman series, the ratio of minimum
and maximum wavelength is 3/4.

Reason (R): Lyman series constitute spectral lines
corresponding to the transition from higher energy to first
excited state of hydrogen atom.

Both assertion and reason are correct statements, and
reason is the correct explanation of the assertion.

@)

Both assertion and reason are correct statements, but
reason is not the correct explanation of the assertion.

@)

(3) Assertion is correct, but reason is wrong statement.

(4) Both assertion and reason are wrong statements.

A semiconductor with a energy band gap of 2.48 eV is
used to fabricate a p-n junction photodiode. It cannot
detect the signal of

(1) 4800 A
(2) 6000 A
(3) 2400 A
(4) 4500 A

16.

17.

18.

19.

9 P WICH & TIT D Po AHT § FSRIT I &, I S-sett
AT § T gk 10% T ST 81 T WIS &1 Jel T §
(1) 3Po

2) 9Pg

(3) 10Pg

4) 5Po

g1y U gRuer #, Cq @2 Cp & ORI R v7g g 9 en: & (AT
SFI SIS 3ed §)

Il MD1
ir 175 |
C,=4yF

E=24VY — D, o C,=8yF
@Q2v,1v
(2)3V,9V
(3)16V,8V
4)2Vv,8V

H (A): ATeAT S0t H, =ga SR sfdedas TReed BT S
3/4 B Bl

PR (R): A9 ooft Sog Sorf I SIS TRAT Bl gt
IATT STIERIT H HHHUT & T FhreHT G1aft & fFmfor deelt 1

(1) BT AR HRUT ST Hel & 3R BRI, HA DI Tl AR 8

. P 3R HRU ST Tl & T HRUT, e Hl Te) e el
g

(3) YT TE B, TIfehT DRI AT &
(4) D 3R DR ST TeTe &

2.48 eV & oll S IfRIeT dlel U JrddTetd BT ST p-n fed
PICICRIE g9 & oIy faam STam 81 8 e Rwer & Sjfad &
PR DT 872

(1) 4800 A
(2) 6000 A
(3) 2400 A
(4) 4500 A
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20.

21.

22.

In Rutherford a-particle scattering experiment if impact
parameter becomes minimum, the angle of scattering is

(1) zero
@ 3
@) %

(4=

A nuclear reaction is given as
A+B - C+D
If binding energies of A, B, C and D are given as B1, Bp,

B3 and By respectively, then the energy released in the
reaction will be

(1) B1+B2-B3-B4
(2) B1+B2+B3+By
(3)B3+B4—-B1-B2
(4)B1+B2+B3—-By

The current flowing through the battery as shown in figure,
is (assume the diodes are ideal)

6 Q D,
——W——
D, 6Q
KW

6 (¢
—yYY :4_
D,
MW— |
20 40V
1) 4A
@) 5A
(3)8A
(4) 10 A

20.

21.

22.

RERHBIS o-PUT TV TANT H Jfe HeIg Traiet =gAcH &1 STl 8, e
Tl T &

1) T
@ 3
@ F
OF

T AT rfrfoha ot R fear mn g
A+B - C+D
IR A, B, C AT D bl 97 iU $6491: By, Bp, B3 TT By SR

S it €, 79 arfrforar 5 g St it

(1) By +Bp - B3 - By

(2) By +Bp + B3 + By

(3)B3+B4-B1-B2

(4) By +Bp + B3 — By

forr o go1fu SR S & yaTfRd g & (AT SRS o1iedf €)

6 Q D,
——AW >
D, 6 Q
— MWy
6 Q
AN :4_
D,
W— |
20 40V
Q) 4A
(2)5A
(3)8A
(4) 10 A
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23.

24.

25.

26.

In the given circuit, the current through the Zener diode is
500 ©
15V
1500 Q i _
/\V,=10V
(1) 3.33mA
(2) 5mA
(3) 6.67 mA
(4) 2.0 mA
A 13.056 eV radiation is used to bombard gaseous

hydrogen at room temperature. Highest energy level upto
which hydrogen atoms would be excited, is

1)n=3
2)n=4
(B)n=5
4)n=6

The correct statements about Bohr’s postulate among the
following are :

A. Electron can revolve in certain stable orbits without the
emission of radiant energy.

B. Each atom has certain definite stable states in which it
can exist.

C. Each stationary state of atom has definite total energy.
D. It proves the predictions of electromagnetic theory.
Choose the correct answer from the options given below :

(1) Aonly

(2) Aand B only
(3) A,Band C only
(4) A,B,Cand D

The ratio of the speed of electron in 2Nd 1o 41 orpit of
hydrogen atom is

(11:1
(2)2:1
(3)1:2
(4)1:4

23.

24.

25.

26.

Ry v gRRuer &, SR SRS I garfed e drefl eRT &

fv‘,:mv

(1) 3.33 mA
(2) 5mA
(3) 6.67 MA
(4) 10 mA

13.056 eV fAfhRur &7 ST HFR & IO W IR gZeo W
IR PR & T T ST 21 BIggIor URATY] fobsy Soas St
TR TP AT 8RI?

L n=3

2)n=4

(3B)n=5

4)n=6

frfeifaa 5 3 aigR ot IfrgRun & IR F T8 B &

A. gae AR Soorf & Scaoi= & farT e Tomft wermart
Terehx, T Hebcll

gl

B. Y% WA & o5 ffead Turft sawa gt § S99 a7
U &1 Hebell Bl

C. WA &I e TR araer H fead HeT SHorf ekt o

D. TE fRgd graehia fAgia ot TiIsganfor o g a2

ra f& ¢ fpedt § & F8 IR g

(1) HaT A
(2) o A 3R B
(3) P91 A, B3R C

(4) A, B, CT&TD

BISSIoT URATY] 1 IR d 312t a1 H Serarg 4 1 aTeT Pl SN &
11:1
(22:1
B)1:2
4)1:4
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217.

28.

29.

30.

31.

For intensity / of a light of wavelength 8000 A, the
photoelectron saturation current is 0.8 pA and work
function (Wp) of metal is 0.19 eV. The stopping potential

(Vo) will be
(1) 0.25V
(2) 1.36 V
(3) 255V
(4)2.74V

A point source of monochromatic light is at a distance of
0.6 m away from a photoelectric cell. If the same source
were to be placed much closer to the cell, then

(1) Stopping potential will increase
(2) Saturation currentwill increase

(3) Stopping potential will decrease
(4) Both (1) and (2)

Electrons in a hydrogen sample make transition from fifth
excited state to orbit with principal quantum number 3.
Maximum number of spectral lines emitted in the process
is

1) 6
@) 12
(3) 16
4) 8

When a uranium isotope 25U is bombarded with a

neutron, itgenerates 1{’Xe , two neutrons and
(1) 8kr

(2) ¥nb

3) ggSr

(4) Miga

The radius of first stationary orbit in Bohr’s atomic model of
hydrogen atom is R. The radius of the third orbit will be

(1) 3R

(2) 45R

(3) 9R

OF:

27.

28.

29.

30.

31.

8000 A T¥Teed drer amrer & <fedT | & folT, Ui gerae
HJH GRT 0.8 A 2 iR &1g & BRI (Wo) T A 0.19 eV &l
R e (V) BF

(1) 0.25V
(2) 1.36 V
(3) 255V
(4)2.74V

TepeTqui SepTeT 2T Ueh faig AT Uep b1l fgf #e ¥ 0.6 iR &1
I W 21 I FHH AN DI AT o I8 fipe KT A1, Al

(1) PRI g e
(2) HqH e ST
(3) FReft fvga wrem
(4) (1) 3R (2) 3T

BRSO & T H golag i Urdl Sfoid ST ¥ %I FaieH
TR 3 aTel HET § T R 81 39 Uehar H Scafola SagH!
1) 6

()12

3) 16

4)8

T4 Uep GRTIH AP 239U R =Yg DT FHIRI T AR &, Al
g8 Moxe, a1 IS T I PR &

Q) ggKr

(2) ¥nb

(3) Jasr

(4) it'Ba

JIER P BTSZIT URATY] &b URATY] HiSel H Ugat! [EOR hef bl B
R & e &t s arft

1) 3R

(2 45R

(3) 9R

OF:

10
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32.

33.

34.

Match list-1 with list-IlI.
List-I
(Nuclei)

List-ll
(Corresponding property)

2 Na, 15 Mg () ||lsobars

24
2 Na, 11 Na |((Il) [[lsotones

[o][=][>]]

|24 Na, T, Mg||(1l)|Isotopes

Choose the correct answer from the options given below.
(1) A= (1), B—=(I), C— (I
2) A=), B—(lI, C— (1)
(3) A=(I), B—(I), C— ()
4) A=, B—=(n,C—(

Binding energy (B.E.) per nucleon versus mass number
curve for nuclei is shown in the figure below. A, B and C
are three nuclei indicated on the curve. The process that

will notrelease energy is
F

B.E./nucleon

h

(1)2A - B

(2)C - 2A
(B)B-A+C

(4) Both (2) and (3)

The correct statements about photon picture  of
electromagnetic radiation among the following are:

A. During interaction with matter, radiation behaves as if it
is made up of photons.

B. Photon energy is proportional to intensity of radiation.

C. Photons are not deflected by electric and magnetic
fields.

(1) Aand C only
(2) Bonly

(3) Band C only
(4)A,BandC

32.

33.

34.

-1 1 -1l At Hif
] G-I [ ] Gl
|

2 Na, 1, Mg||(1) NG

2 Na, % Na B NEREIRER
2 Na, 2 Mg||(I) |Freenfia
fre fog g el & T IR g

(1) A= (1), B—(II), C — (Il

(2) A=(II), B—(IIN), C = (I)

(3) A= (II), B—(I), C — (Il

(4) A= (I, B=(I), C = (I)

1Y & folw wfty =gferetaii= due It (B.E.) T ST TR ab
o few o fomr o gorfar T 81 A, B 3R ¢ fF Tiftres €, S 9% R
221U T B o e o Sl Teh 181 eRi?

oJ[= ][>

h

'

(1)2A - B
(2) C - 2A
(3)B-A+C

(4) (2) 3R (3) <

Pt § & Rigd gdi Ri=w 61 P fA & IR § @8
P &:

A. TS & 1Y AR R & SR, fafdRor O egagR awelt §
S fo I8 ICH ¥ & a8l

B. PICH Sof AfchRoT bt <fieretT o STt et 81

C. BICH el 3iR gabi &3 a7 fefia =2 8 &1

(1) FaT AR C

(2) 9 B

(3) Faa B3R C

(4) A B3R C

11
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35.

36.

37.

38.

39.

The logic symbol shown in figure represents

(1) OR gate
(2) AND gate
(3) NOR gate
(4) NAND gate

In resonance tube experiment if the second and third
resonating length are /o and /3 respectively, then end

correction for the tube is
(1) 25=

(@ 252

(3) 252

(4) B

When p-n junction diode is reverse biased, then

The depletion region is reduced and barrier height is
increased

)

The depletion region is widened and barrier height is
reduced

@)

Both the depletion region and barrier height are
reduced

®3)

Both the depletion region and barrier height are
increased

4)

In an intrinsic semiconductor, the intrinsic carrier

concentration is 1018/m3. on doping with phosphorus, the

electron concentration becomes 2 x 1022/m3. Then the
hole concentration in the doped semiconductor is

1) 2 x 104/m3

(2) 5 x 1014/m3
(3) 5x 1013/m3
(4) 4 x 1026/m3

At 0 K, all the electrons of semiconductor will reside in the
(1) Forbidden band

(2) Valence band

(3) Conduction band

(4) Both (1) and (3)

35.

36.

37.

38.

39.

i 8 corfar T AifSe Gbd cafdr g

(1) ORI
(2) AND 1€
(3) NOR 7T
(4) NAND 1€

e AfeleT FAN A I EA SR AR SIS S A
Ip 3R I3 &, at Afete & forg foRT wener &

(1) 25~

(2 252

(3) 2=

@) Lj’”

9 p-n Gt SRS BT yLaife qrfad fhar Srar g,

(1) 3T9ErT & BICT B ST & 3R 3MeRTY B T8 96 Il &
(2) ST9&RT &7 TS B AT & MR 37eR1ey &Y H5ars F 21 el &
(3) 3T & 3R 3FeR1Y Hi Frars AT T &

(4) TaERT & 7R SFeRIe Y A ST aa &

U 9 ST A, 39 a1 Higam 1018/m3 31 wiemRE & ey
IR PR R, Feag Y Higdl 2 x 1022/mS & Wl &1 79
arufHfsid ardaTere H Bie dl Tigdll &

(1) 2 x 104m3

(2) 5 x 101%/m3

(3) 5 x 1013/m3

(4) 4 x 10%6/m3

0 K IR, 3refaret & Tt getare = forem fAifed 8

(1) aia s

(2) T S8

(3) T S

(4) (1) 3R (3) I

12
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40.

41.

42,

43.

44.

Consider, two very light nuclei (A < 10) joining to form a
heavier nucleus in an exothermic reaction. Then correct
statementis

The final system is more tightly bound than the initial
system

@)

(2) This process is called fusion

The binding energy per nucleon of the product nuclei is
more than of reactant nuclei

©)

(4) All of these

Two nucleons are at a separation of 0.7 fm, 0.9 fm and 1.2
fm corresponding to which, the respective nuclear force
between the nucleonsis

(1) Attractive, attractive, attractive
(2) Repulsive, attractive, attractive
(3) Repulsive, repulsive, attractive

(4) Repulsive, repulsive, repulsive

A nucleus ruptures into two nuclear parts which have their
velocities in the ratio of 2 : 1. What will be the ratio of their
nuclear sizes (radii)?

@2:1

(2)1:213

@) 312,

4)1:312

The ratio of the de-Broglie wavelength associated with an
electron in second excited state to the first excited state of
a hydrogen atom is

(1) 7

@)

w o

®) 3
@) 4

Ratio of angular momentum to angular speed of electron in
nt orbit of hydrogen atom is directly proportional to

@) =
) n%
@ L

(4)n

40.

41.

42.

43.

44.

T 3 T5 8 AP (A < 10) TP SHeATaT Afha 7 7 At
1 g9 & ol = &1 7 Hel e B

(1) 3ifc e IR e 6 g 4 s1feies e ST 8l &
(2) S UfRAT BT FAIF Dl STl &

e T 1 R R S St AR A B
®) e it i 2

(4) s A

3 YfFA3 0.7 fm, 0.9 fm 3R 1.2 fm & gFH=U R &, b
T, AT & i Haferd ARSI o7 8 8

(1) 3TTepuiT, 3TehH, Arest
(2) wifcrepdlt, 3repeT, arreptt
(3) Trfcrendf, Tfcrendf, arenst
(4) Ffcrel, wfcress, wfcrepsT

Tep A1 a ATRYDIT RN H ge ST & i o &7 ogurd 2 : 1
81 577 ATRIBRT TR (FaT) 1 ST &= 8mT?

(1) 2:1

2)1:213
@) 3124
(4)1:3/2
ETSSIT GRATY] Y SR SRSl SRl 9 gl Sfora araeen §

T gelag i o Hafed SI-8RTef! aWTeed &1 3T &

OF;

) 2

3) 5

OF

grEgIor WA &1 nth et ¥ geraci & PIvi FarT g v =Tt
T 3TN fobeich FHTATC Bl 272

@) =x

@ n*

3) 1

#)n

13
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45.

46.

47.

48.

49.

For a proton accelerated through V volts, de Broglie 45. v dicc ¥ R T YIS & AT, S sireft dereed &Y e Uhr
wavelength is given as
EIRCIE R
12.27
@ A 1227
Q) A
0.286
@ “FA
0.286
(3) S A @
NG
(3) S A
0.202
@ “FA
0.202
@ ~FA

Maximum number of atoms are presentin
(1) 1gHpgas

(2) 2 g He gas

(3) 89 O2 gas

(4) 6 g NH3z gas

Law of multiple proportions is applicable to
(1) H2S and HoO

(2) CS2 and CO»

(3) NHz and NO

(4) COand CO2

CHEMISTRY | R s

46. fras qRATULSTT i TReaT srfdida 82
(1) LgHp
(2) 2 g He 19
(3)8g 0o
(4) 6 g NH3g ™
47.  foret YT T R o IR TR &Yl 82
(1) H2S 3R Hp0
(2) CS 3R COy
(3) NH3 3R NOp

(4) CO 3R COy

One mole sample of FeO is heated in air until it is 48. Feo%@qﬁaq@aﬁa@ﬁquﬁmwgwwﬁ;

completely converted into FesO3. The percentage
increase in weight of sample is [Given: Atomic mass of Fe

= 56]

(1) 10.58%
(2) 20.28%
(3) 35.35%
(4) 11.11%

I8 quf U ¥ Fep O3 H HUART = 81 JTT | T & 9R | uforerd gfg
B[R : Fe &1 WRHTY] S04 = 56]

(1) 10.58%

(2) 20.28%

(3) 35.35%

(4) 11.11%

56 g of Np gas is reacted with 18 g of Ho gas. Mole of 49. 56 g Np 14, 18 g Hp T & Wy arfuifthar awcft &1 wfthar

ammonia produced in the process is
e
(2) 4
(3)5
43

= gmd SIS S At &

(16
(2) 4
35
(4)3

14
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50.

51.

52.

53.

54.

The de-Broglie wavelength for an electron moving with
kinetic energy of 4.55 x 10723 Jis

(h=6.626 x 10734 Js, mg = 9.1 x 1031 kg)

(1) 65.25 nm

(2) 79.41 nm

(3) 72.81 nm

(4) 53.84 nm

The total number of electrons in chromium atom with n + 1=
3,is

1) 8
@) 2
(3) 10
4) 6

Which of the following pairs of orbitals will have electron
density along the axes?

(1) Px, dxy
(2) Py dyz
(3) Pz, dzx

4) px dx2 - y2

If the wavelength of an electromagnetic radiation is 300 nm
then the energy of a photon (in joule) will be (h = 6.63 x

1034 Js, speed of light (c) =3 x 108 ms_l)
(1) 6.63 x 10718

(2) 6.63 x 1017

(3) 6.63 x 10719

(4) 6.63 x 1016

Given below are the two statements

Statement I: Magnetic quantum number gives information
about the spatial orientation of the orbital with respect to
standard set of co-ordinate axes.

Statement II: For / = 0, the only permitted value of my=0

In light of above statements, choose the correct answer.
(1) Statement | is correct but statement Il is incorrect

(2) Both statement | and statement Il are correct

(3) Both statement | and statement Il are incorrect

(4) Statement | is incorrect but statement Il is correct

50.

51.

52.

53.

54.

TR St 4.55 x 10723 J § TRMM serge & fay S-ael
AT §

(h=6.626 x 10734 Js, mg = 9.1 x 10~31 kg)

(1) 65.25 nm

(2) 79.41 nm

(3) 72.81 nm

(4) 53.84 nm

PIRTH GRATY 0 + | = 3 dlet Seldg i1 b Pof TedT

1) 8

(2) 2

3) 10

(4) 6

frfefad 5 & 59 $are g™ 9 Sorag™ oia 318 & argfed
BT?

(1) Px: dxy

(2) Py. dyz

(3) Pz: dzx

(4) px, dx? = y?

I T R-grachiar fAfdp=ur bl a¥eed 300 nm &1, 1 BICH &1
St (St H) 8rfY (h = 6.63 x 10734 Js, Heb1eT Y 91T (c) = 3 x
108 ms_l)

(1) 6.63 x 10718

(2) 6.63 x 1017

(3) 6.63x 10719

(4) 6.63 x 1016

I e Ry &

B | : JIHRI FicH T TG &l & AP T b Hag A
Harh D TAT(D NI P IR H THSRI < 21

F I 2 | = 0 F T, my = 0 BT THAH 3T A Il 2

IUGh HeFI F F H, Fel IR Tl

(1) YT | T8 & oIfehT oM Il TeTd &
(2) HUF | IR BT 1| S Tl &
(3) T | 3R BT 1| A1 T &

(4) D | AT & AT Db || Hel &

15
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55.

56.

57.

Match List-1 with List-II.

|List-I ||List-l |
|:||n1||n2 ||:||Series |
|1 ||2,3...||Brackett|
|4 ||5,6...||Paschen|
[©][3 ][4,5...][di)|[Pfund ]
@5_Jl6.7-..[w) [cyman_|

The correct match is

1) (@)-(@), (b)-(iv), (c)-(ii), (d)-(iii)
(2) (2)-(iv), (b)-(i), (c)-(ii), (d)-(iii)
(3) (@)-(i), (b)-(iv), (c)-(iii), (d)-(ii)
(4) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

Consider the following statements

(a) Gallium is called Eka-aluminium

(b) Sodium is more electropositive than potassium
(c) Electron gain enthalpy of helium is positive
The correct statements are

(1) (a) and (b) only
(2) (a) and (c) only
(3) (b) and (c) only
(4) (a), (b) and (c)

Incorrect order of electron affinity is
(1) CI>Si>Na>Ar

(2) CI>F>Br>1
B)CI>F>S>0
(4)S>0>Se>Te

55.

56.

57.

G-I Y GA-11 & T GrfAd B

G-I Gedl
gz || [[seR
§1 2,3... T?r%
54 5,6... ?wﬁ:{

(i)

ol la.5...|in] [z
6 5 |6,7... 6

El fe &
(1) @)-(0), (b)-(iv), (c)-(ii), (d)-(iii)

(2) (@)-(iv), (b)-(i), (c)-(ii), (d)-(ii)

(3) (@)-(0), (b)-(iv), (c)-(iii), (d)-(i)

(4) (@)-(ii), (b)-(iv), (c)-(i), (d)~(iii)

ARy Homl R R &9

(a) Mt B aT-UgAET wet oI &

(b) TR &t gerT § T srfeie faga gmTeTes aiar &
(c) Eiferzm &t serag ™ afed Trdedt gTeres gt &
HE B &

(1) &9 (a) TR (b)
(2) $3 (a) 3R (c)
(3) act (b) 3R (c)

N
GIESE

(4) (@), (b) 3R ()
Sotarg M YT BT ToTd 9 &
(1) CI>Si>Na>Ar

(2) CI>F>Br>1

B)CI>F>S>0
(4)S>0>Se>Te
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58. Match the compounds given in List-l with their chemical

59.

60.

nature given in List-ll

[ st ][ Juistn ]
(@][203]) [Bas
|N20 ||Amphoteric|
|N02 ||Neutra| |
|CaO ||Acidic |

Choose the correct answer from the options given below.
(1) (@)-(i), (b)-(iii), (c)-(0), (d)-(iv)
(2) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(3) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)
(4) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

Which of the following statements are true regarding
modern periodic table?

(&) s-block elements of the same group have similar
valence shell electronic configuration.

(b) Metals comprise higher percentage than non-metals of
the known elements.

(c) The physical and chemical properties of elements vary
periodically with their atomic numbers.

Choose the correct answer from the options given below.

(1) (a) and (b) only
(2) (a) and (c) only
(3) (b) and (c) only
(4) (), (b) and (c)

Match column | with column Il and choose the correct
answer.

|:||Columnl ||:||Columnll |
[a|[Palladium][() |[Lanthancid |
|Ch|0rine ||Transition metal|
[c.][Thorium |[(ii)|[Halogen |
|Samarium||Actinoid |

Choose the correct answer from the options given below.
(1) a-(i), b-(iii), c-(iv), d-(ii)
(2) a-(iv), b-(iii), c-(ii), d-(i)
(3) a-(ii), b-(iii), c-(iv), d-(i)
(4) a-(iii), b-(ii), c-(iv), d-(i)

58.

59.

60.

TA-1 9 Ry v Aiffiet &1 g@-1l 5 & Wit SAh e udid &
1o grfeld HIfSY

] G-I ] G-Il
(a)||AI203 K R

(b)|[N20 B IHTLHT
6 NO2 m SEIRE
6 CaO E AT
<fro g 7 e 4 9 w81 SR gl

1) @)-(i), (b)-(iii), (¢)-(0), (d)-(iv)

(2) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

(3) (a)-(iii), (b)-(ii), (©)-(iv), (d)-(i)

(@) (a)-(iii), (b)-(iv), (©)-(i), (d)-(ii)

MY 3Mat ARV & Toe § Frafalfed 3 § /s HaT F&t
8/e?

() T & T P s-scifeh el T TN DI FATS I A= FH
B 2|

(b) ST Tl H &GN BT Hfrerd STeTgal ¥ J1feid B gl

(c) Tl 3 e TR THRIG o7 S URATY] SHHID $ AT -
TG TR §&eT<] TEd Bl

e g U fapedt 5 & w8 TR g

(1) 9 (a) 3R (b)
(2) 4 (a) 3R ()
(3) ad (b) 3R (c)

@) (), (b) 3R (c)
DT | DY DBt 1| T 1R T STR |
e || ]

i Il

N

|[Srerfezm|| (i)

KRS
GERIES

HehHUT €T

(e]le J[=][& ]

(1) a- (i), b- (iii), c- (iv), d- (ii)
(2) a- (iv), b- (iii), c- (ii), d- (i)
(3) a- (ii), b- (iii), c- (iv), d- (i)
(4) a- (iii), b- (ii), c- (iv), d- (i)
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61. Match the atomic number given in List-l with their IUPAC 61. Il § & it wE wHiG B gE-Il § U T S E IUPAC
official name given in List-Il.
[ Jltist][[List-n | eI 1 1o Hfela FifSre|
a][206 [() |[Rutherfordium| -l ([
|102 ||Seaborgium | ; 106 K N
[c.][z01 ][gii)|[Nobelium | ] M
|104 ||Mende|evium| b.||202 ﬂ'\“ﬁgﬁﬁh‘?
Choose the correct answer from the options given below. c_ 101 m T
(1) a(ii), b(iii), c(iv), d(i) — s —
L . d.||104 ||(iv)|[HTsclI=TH
(2) a(iii), b(ii), c(iv), d(i) L | L
(3) a(iv), biii), c(i), (i) i Ry ¢ et & v SR gAYl
(4) a(iii), b(iv), c(ii), d(i) (1) a(ii), b(iii), c(iv), d(i)

(2) afiii), b(ii), c(iv), d(i)
(3) a(iv), b(iii), c(i), d(ii)
(4) a(iii), b(iv), c(ii), d(i)

62. Which among the following molecule has longest covalent 62. ﬁmﬁ@ﬁﬁqmmﬁmg@a@rgwmgq
bond length?

Qc=c @c=c
@c=c @c=c
(3)C=N (3)C=N
(4)c=0 (4)Cc=0
63. Hybridization of central atoms in the molecules N(CH3)3 63. 3] N(CHg)3 I N(SiH3)3 ¥ el tRATIaT &7 Hepor HeT: &

and N(SiH3)3 respectively are
2 2

(1) sp” 3R sp

(1) sp? and sp?

3 3
(2) sp® and sp° (2) sp° 3R sp

(3) sp? and sp° (3) sp? 3R sp3
(4) sp3 and sp? (4) sp3 @ik sp2
64. The hybridisation of Xe in XeF4, XeOF4 and XeFg 64. XeF4, XeOF4 TT XeFg T Xe & TpUT HHI: &

respectively are
(1) sp3, sp3d2, sp3a2 (1) sp3, sp3d?, sp3d?
() sp3d?, sp3d?, sp3a3 @) sp3d?, sp>d?, sp>d?
(3) dsp?, sp3d?. sp3d? (3) dsp?, sp3d?, sp3a?
(4) sp3d, sp3d, sp3d3 (@) sp3d, sp3d, sp3a3
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65.

66.

67.

68.

Intramolecular hydrogen bonding is observed in

OH

CH,
(1)

(o

OH

NO,
@

o

OH

©)

o

CH,
OH

)

o

NO,

Find out the incorrect match

(1) O2 molecule — 2 unpaired electrons
(2) PBr5 — Two different types of bond lengths
(3) ClO3 — Odd electron molecule

(4) SF4 — Bent T-shape

In which of the following processes, the stability increases
and the magnetic behaviour changes?

(1) Liy — Lij
(2) 0, — 05
(B) Ny = N,

(4) H, » H

Planar and non-polar species among the following is
(1) SiClg

(2) XeFyq

(3) NH;

(4) PCl3

65.

66.

67.

68.

o 37T aMfude BTggIoTT 3reier Hfard &iar 82
OH
CH,
(1)
OH
NO,
2
OH
(3)
CH,
OH
(4)
NO;
et el Sd BT

(1) O 31— 2 ST gerag i

(2) PBrg — 3 sl TR &1 81 ofarg

(3) ClOg — fawe Setarg i 317

(4) SF4 — dfdpe T-3Tepfcr

frfafaa & 3 5 uepd 3 Tlic 9edt & a1 gradid FaeR
gRafcrd 8raT 87

(1) Liy — Li;

(2) 02 = Oy

@) Ny — N

(4) Hy —» H,

iR 3 & el wdtefiet Fach gor oy 2 &2
(1) SiClg

(2) XeF4

(3) NH;

(4) PCl3
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69.

70.

71.

72.

73.

Given below are two statements

Statement-l: The magnitude of hydrogen bonding is
maximum in solid state and minimum in the gaseous state.
Statement-II: Intramolecular hydrogen bonding exists in p-
nitrophenol.

In the light of above statements, identify the correct answer
from the options given below.

(1) Both statement | and statement Il are incorrect
(2) Both statement | and statement Il are correct
(3) Statement | is correct but statement Il is incorrect

(4) Statement | is incorrect but statement Il is correct

The mole fraction of methanol when equal masses of
methanol and ethanol are mixed together is

(1) 39/23
() 12/17
(3) 23/39
@) 17/12

Number of mole of ethane required to produce 22 g of CO2
gas after the complete combustion is excess of oxygen is

(1) 05
(2) 0.25
(3) 0.75
41

Number of hydrogen atoms per molecule of a hydrocarbon
“X” having 85.8% carbon is (Given : Molar mass of X =84 g

mol_l)
1e
(2) 12
(38
(4) 10

Which of the following have same number of significant
figure?

(a) 0.00253

(b) 1.0003

(c)11.0

(d) 153

Choose the correct answer from the option given below.

(1) (b) and (c) only
(2) (a), (b) and (c) only
(3) (a), (c) and (d) only
(4) (c) and (d) only

69.

70.

71.

72,

73.

oSy e g g §

BY-1 : BIZGIoT 98 BT IRATU I 37T H Afdepad Jour i
STERERT H =g &I 81

DUA-II : p-ABEIHI H SIcl:370I FTSIST eI UrIT AT &
Suh FHUAl & T H, Ao Ry ¢ fawedl 5 & HE IR &l ugaH
SIS

(1) P | 3R BT 1| A1 T &
(2) HUF | 3R BT 1| ST T E
(3) HUT | TE B oIfehT oM Il TeTdl &
(4) D | TTeTd & 2Tfehl b || Hel &

T AT 37R VTl & SRIR SeHT Pl Tep 12y AT ST &
AT HIHTA BT HleT TS &

(1) 39/23

(2) 12117

(3) 23/39

(4) 17112

aifeeier arfie = quf 381 & 918 22 g COy i UTH &< & faly
3TAL QAT o Alc| ) Tl &

(1) 05

(2) 0.25

(3) 0.75

(4)1

85.8% I dTet BISSIBIEH “X” & TfeT 370] # BTegrord URATIRM
&1 HET 8 (RaT & : X @7 AR 5™ = 84 g mol™ 1)

1) 6
) 12
(3)8
(4) 10

fFeafafed o 3 b g1eie 3ip! 6T dwear T el 82
(a) 0.00253

(b) 1.0003

(c)11.0

(d) 153

M fog Y by o < el SR RN

(1) A (b) 3R (c)

(2) Fa (a), (b) 3R (c)

(3) I (a), (c) 3R (d)

(4) Fa (c) 3R (d)
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74.

75.

76.

77.

Match List-I with List-I

| [[ist-1 [ |lList-n

|3o g of CoHg(9) ||Weight 28 g

|1 g ofHz (9) ||1.08 x 102% electrons
|1 mole of N2 (g) ||Weight 329

0.5 mole of SOy|| . .||Occupies 11.2 L volume at
(iv)
(9) STP

Choose the correct answer from the option given below.
(1) a-(ii), b-(iv), c-(iii), d-(i)
(2) a-(ii), b-(iv), c-(i), d-(iii)
(3) a-(ii), b-(i), c-(iv), d-(iii)
(4) a-(ii), b-(iii), c-(i), d-(iv)

20 g nitrogen combine with 5g of hydrogen to form
ammonia then the limiting reagent of the reaction and the
number of moles of ammonia formed respectively are

(1) H2,1.42 moles
(2) H2,0.71 mole
(38) N2, 1.42 moles

(4) N2,0.71 mole

Which of the following electronic configuration would be
associated with least number of unpaired electrons?

1) [A3d3
(2) [Ar]3d®
(3) [arj3d’
(4) [Ar]3d8

The four quantum numbers of the electron in the outer
most orbital of rubidium (atomic number 37) are

(M)n=5/=2,m=-1, s =+1
(2)n=5,1=0,m=0, s:+%
3)n=4,1=0,m=0, s:+%

@)n=4,/=1,m=0, s=+1

74.

75.

76.

77.

-1 1 G-I & Frer GAfAT HfSY

e [

{1309 C2Hg(9) ||(i) |[R28¢g
JtaH2(@ (i) |[1.08 x 10?5 geragi

J1E@No (9) ||y TR 32 ¢

[(=]le][=][® ]

/0.5 HIe SO (g)||(iv)||STP R 11.2 L 37T Rl &

(1) a-(ii), b-(iv), c~(iii), d-(i)

(2) a-(ii), b-(iv), c-(i), d~(iii)

(3) a(ii), b-(i), c-(iv), d-(ii)

(4) a-(ii), b-(iii), c-(i), d-(iv)

20 g RGN, 5 g ERSN & A1 e ST g7 8, o
arfrfera &1 THia arfraHa SR UTH 8 atel ST & Hietl &t
T A §

(1) Hp, 142 91

(2) Hp,0.71 Hi

(3) Np, 1.42 91

(4) N2, 0.71 91

eI & 9 elFar soag i e =gma dedr | gfi
ESEARIR R CE I

(1) [An3d3

) [Ar3d®
(3) [arj3d’
(4) [Ar3d®
SRR (KA PHiD 37) $ AR Paid § gorde HI AR
(Hn=51=2,m=-1, s =+1
(n=5,/=0,m=0, s =+3
(@)n=4,/=0,m=0, s =+1

@)n=4,/=1,m=0, s=+1
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78.

79.

80.

81.

82.

If wavelength of the first line of the Paschen series of
hydrogen atom is 720 nm, then the wavelength of the
second line of this series is

(1) 492 nm
(2) 380 nm
(3) 750 nm
(4) 420 nm

Energy required to ionise a H atom if the electron occupies
n =4 orbitis

(1) 5.45 x 10719
(2) 1.36 x 10719
(3) 4.36 x 10718

(4)35x10717;

The pair, in which ions are isoelectronic with AI3Jr is

(1) Br~and Be2+
(2) CI” and Li%*
3) s2-and K*

4) 0%~ and M92+

Given below are two statements one is labelled as
Assertion (A) and the other is labelled as Reason (R)
Assertion (A): For a multielectron system, energy of 4s
orbital is greater than 3d orbital.

Reason (R): For multielectron system, an orbital with lower
value of (n + 1) has lower energy than the orbital with
higher value of (n +1).

In the light of above statements, choose the most
appropriate answer from the options given below

Both (A) and (R) are true and (R) is the correct
explanation of (A)

@)

Both (A) and (R) are true but (R) is not the correct
explanation of (A)

@)

(3) (A) is correct but (R) is incorrect

(4) (A) isincorrect but (R) is correct

The IUPAC symbol for the element with atomic number 119
would be

(1) uue
(2) une
(3) uuh
(4) uun

78.

79.

80.

81.

82.

IS BTSGINT URATY] T TTee ot &6 T/ T bl TR 720 nm
8, a1 59 Sift & fecfiar ar &t aeeed] aam a2

(1) 492 nm
(2) 380 nm
(3) 750 nm
(4) 420 nm

IS SAFE N = 4 e BT ¥RAT 8, AN H TRHAY BT ST A &
forg smmaeas St &
(1) 5.45 x 107193
(2) 136 x10719;
(3) 4.36 x 10718

(4)35x10717;3

PR g P T AR & T B §7
(1) Br- ik Be2*

@) cr sk Li2*

3) sZ- sk kt

(4) 02~ &R mg2+

A a1 P T MY B, fIH 3} U BT BT (A) T IR DI HRY
(R) H&T T &l

HYT (A) : TgSIdG A MPH & (oY, 4s BedH DT Holt 3d HED I
arfeie Bt 81

BN (R) : IgeoIdq M MPM & AT, (n + 1) & $F 1 el &b
Bl (n + 1) P Ioq T ATl FHereh Dl gorT 3 B Bt 21
SRk BT & T H, 7l oy U et § & Fa¥ S IR
gl

(1) (A) 3R (R) 31 HEl £ iR (R) (A) 7 Hel Tuefiepvu 2

(2) (A) 3R (R) 31 T& & 2T (R) (A) &7 Hel Taeiaur 72l &
(3) (A) FE & olf (R) ToaT &

(4) (A) TTd 8 oifh (R) HEl &

URHTY] ST 119 dTel ofd &7 IUPAC Hcfids 81T

(1) uue

(2) une

(3) uuh

(4) uun
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83.

84.

85.

86.

87.

The element having greatest difference its first and second
ionization energies is

(1) sc
(2) Ba
3) Ca
4K

The ionic radii (in A) of F, 02_, N3~ are respectively
(1) 1.71,1.36 and 1.40
(2) 1.36,1.40 and 1.71
(3) 1.71,1.40 and 1.36
(4) 1.36,1.71 and 1.40

In the long form of the modern periodic table, the valence

shell electronic configuration of 432, 4p4 corresponds to
the element presentin

(1) Group 16 and period 4
(2) Group 17 and period 4
(3) Group 16 and period 5
(4) Group 17 and period 5

Identify the incorrect statement for PClg from the

following.

1) Orbitals of phosphorous are assumed to undergo sp3d
hybridization

5 PCls has two axial bonds stronger than three

) equational bonds

(3) The three equatorial bonds of PCls lie in a plane

(4) The geometry of PCls is trigonal bipyramidal

Number of lone pair(s) of electrons on central atom and the

shape of CIF3 molecule respectively, are
(1) O, triangular planar

(2) 1, pyramidal

(3) 2, bent T-shape

(4) 1, bent T-shape

83.

84.

85.

86.

87.

P I Y T2 qeiT fediar 3T Sl B 3N Haffeie ardr 872

(1) Sc
(2) Ba
3) Ca
(4 K

F, 02~, N3~ & s Bt (A &) waan: &
(1) 1.71,1.36 3R 1.40
(2) 1.36,1.40 3R 1.71
(3) 1.71,1.40 3R 1.36
(4) 1.36,1.71 3R 1.40

g e IR B & wu § 452, 4p? @1 GISTRAT Bl
ST I fobd e & Treig BT 87

(1) & 16 3R aract 4

(2) T 17 3R 3fTect 4

(3) &1 16 3R 31K 5

(4) & 17 3R &7 5

T & 9 PClg & T Terd d2 &l uga SIforg|
(1) BRPRE S HEP spd Tl 390 Taval &

PClg # 3 arafty 99 8 € S I Frefla a9t & oifds gaat

(3) PClg & H FReffta 99 1o & dct H srafeerd 8 &
(4) PClg &t sanfirfy et fafiRfrst et &

oI URATY] TR geldg i & UaTh! FF i el el CIFg 379 dr
My Fer: &

(1) 0, Prp1ofR Tt

) 1, R

(3) 2, dfehdt T-31repfcl

(4) 1, bl T-3Mmepier
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88.

89.

90.

91.

Match List-1 with List-1l

D List-l D List-lI
(Molecule) (Bond order)
afHez i [ |

N2 J@]zs |

elF2_ ]l |

o ol

Choose the correct answer from the options given below.
(1) a-(iii), b-(iv), c-(i), d-(ii)

(2) a-(iii), b-(iv), c-(ii), d-(i)

(3) a-(iv), b-(iii), c-(i), d-(ii)

(4) a-(iv), b-(iii), c-(ii), d-(i)

Arrange the following is increasing order of their covalent
character

(a) MgF2

(b) MgClo

(c) MgBro

(d) Mgl

Choose the correct answer from the options given below

(1) (b)<(a)<(c)<(d)
(@) @ <(b)<(c)<(d)
@) @ <(b)<(d)<(c)
(4) (@) <(c)<(b)<(d)

The dipole moments of CClg, CHCI3 and CHyg are in the
order of

(1) CClg < CH4 <CHCl3
(2) CHg <CClg <CHCl3
(3) CHq =CClg <CHCI3
(4) CHCI3 <CHg =CClyg

88.

89.

90.

GAt-1 D GA-11 & T GHfAd BT
gl (g0
@ [T )

2]lre2] ]
o2 Jl@rs ]
]2 JliJo ]
o Joas |

<fra oo g e & W SR g

(1) a-(iii), b-(iv), c-(i), d-(ii)

(2) a-(iii), b-(iv), c(ii), d-(i)

(3) a-(iv), b-(iii), c-(i), d-(ii)

(4) a-(iv), b-(iii), c(ii), d-(i)

TR BT S TeHaNTa 0T & e A H Jafed Hifoly
(a) MgF2

(b) MgCl2

(c) MgBr2

(d) Mgl2

e feg Y ferpel o A Wel STR g

(1) (b)<(a)<(c)<(d)

(2) (@) <(b) < (c) < (d)

() (@) <(b) <(d)<(c)

(4) @) <(c)<(b)<(d)

CCly, CHCI3 iR CHy & faga smef &1 57 &

(1) CClg <CH4 <CHCl3
(2) CHg <CClg <CHCl3
(38) CHg =CClg <CHCl3
(4) CHCI3 <CHg =CClyg

BOTANY | = fas

Which of the following taxonomic categories occupy the
same rank or level?

(1) Poales and Sapindales
(2) Muscidae and Insecta
(3) Poaceae and Diptera

(4) Primata and Mammalia

91.

FefafEd 9 § SR afifdhir Jarf g9 Soft a1 TR w® B 8
&2

(1) v 3R ST
(2) TP IR e
(3) UG 3R e

(4) vTgReT SR AAfAR
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92.

93.

94,

95.

Pteridophytes differ from gymnosperms in

(1) Being archegoniates

(2) Having independent gametophyte

(3) Having sporophyte as main dominant stage

(4) Being tracheophyte

The parasitic member of kingdom plantae is
(1) Venus fly trap

(2) Bladderwort

(3) Cuscuta

(4) Mango

Which of the given features is shown by all members of
protozoa?

(1) Unicellular
(2) Autotrophic nutrition
(3) Presence of flagella

(4) Silica shells on body

State true (T) or false(F) for the following statements and
selectthe correct option.

(A) Dmitri Ivanowsky recognised certain microbes as
causal organism of the mosaic disease of tobacco.

(B) W.M. Stanley showed that viruses could be crystallised
and crystals consist largely of lipids.

(C) Few members of the kingdom plantae are partially
heterotrophic.

(D) Contagium vivum fluidum was coined by Beijerinek.

[ |A[B|Cc|D]
T|T

m(m|d
—|=|m

|_F |
|_T |
|_T |
|_T |

1) @)
2 @)
3G
4) (4)

92.

93.

94,

95.

cReSTprges, fom o & firsr 8id &

(1) SIS 8F & R

(2) FEH TEDIGE b 81 D PRI
(3) T=T TTET STaeen & wU H STY-3fee b 8 & HROT

(4) SIHADISE B b BRU

AT ST T URST 1T e &

(1) & TS du

(2) ®ieTaE

(3) P¥geT

(@) 3™

79 T BT T&10T NSNS &b Tt et gRT 21T 71 872
(1) ThDIADHRT

(2) TS g7

(3) DfepT bl JufeRrfey

(4) PRI TR fRifelepT b e

FrTfefad wemi &1 T (T) I7 Y (F) IA1SY iR Hal vy a1
AT DIy

(A) el saFiaedt 3 B gesiial HI UM da1g Aot [T
I F Tt S1a & HY H B

(B) S, TH. Tt 7 ST  IRRH BI fReeliaa At S
HardT & 3R & forvedt Jeaa: ffiea d e ad &l

(C) TSt ST & P& TS AT HY I fIwuIst 81 2

(D) FTlATT a3 T3S e dioriRes 3 fa o
| |AalB|]C|D]

@ | F|T|T]|F|

|l@ | T | T]|F]|T|

@ | T|F|T]|T]

L@ | F|F|T]|T]

@) @)

2

©NE)

@) 4)
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96.

97.

98.

99.

Select the disease which is caused by an infectious agent
thatis found to be free RNA without protein coat.

(1) Mad cow disease in cattle
(2) Cr-Jacob disease in humans
(3) Potato spindle tuber disease

(4) Yellowing, mosaic formation and vein clearing in plants

Sleeping sickness is caused by
(1) Paramoecium

(2) Amoeba

(3) Entamoeba

(4) Trypanosoma

Read the following statements and select the correct
option.

Statement-lI: The bacterial structure is very simple, but
they are very complex in behaviour.

Statement-Il: Nitrogen fixation takes place in heterocysts
of all the unicellular cyanobacteria.

(1) Statement-l is correct but statement-Il is incorrect.
(2) Statement-l is incorrect but statement-Il is correct.
(3) Both the statements | and Il are correct.

(4) Both the statements | and Il are incorrect.

Read the given assertion (A) and reason (R) and choose
the correct option.

Assertion (A) : In slime moulds, during unfavourable
conditions, the plasmodium differentiates and forms fruiting
bodies bearing spores at their tips.

Reason (R) : In slime moulds, the spores are extremely
resistant and lack walls but survive for many years even
under adverse conditions.

Both (A) and (R) are true and (R) is the correct
explanation of (A)

1)
Both (A) and (R) are true but (R) is not the correct
@) -

explanation of (A)
(3) (A) is true but (R) is false
(4) Both (A) and (R) are false

96.

97.

98.

99.

I T BT T HISIY ST WIS RT3 I RNA & w9 5 U1g
ST dTet Uep HehTHh PR P HRUT BT &

(1) FIRRI 7 AP I
(2) TS ¥ Cr-iee |

(3) SN D AT

(4) ureHl 3 dierTad, Jiotes ffor ofR foRT T
feraTera T faherds RuT B 57

(1) RrfifrRET

(2) T

(3) vesriT

(4) IeHITT

el R Pemi 1 ufey 3R W fieed o1 == Hifsig|

HYF-I: FICIRAT BT FRET T8 TR Bl 8, I ST FIBR I&d
Sffeet eI 2|

FA-Il; ARG fRRIARU T TEHIRBR TRANTCINT &
RIRRE H Bl &

(1) DY e g W HF-1l TeAd Bl
(2) HYA-| TAd & g H-1l el &1
(3) 131K 11 S e HEl 2
(4) | 3R 11 ST P TeTd &

U U B (A) TAT BRUT (R) BT Ufey iR Fal e &1 o
BT

FU (A) : 3AUS PP H, Uipe uRFRRET & 3RM,
cATHIfeTT fmifed & S § oIk we Fr @ i e &
S offef o i) Su= 81 &

PR (R) : 3fAUH Hadhi H, Y] 3a UferIen 81 & 3fiR 37
R o7 arTa B & g A e uRfefcRr 7 oft 63 auf o Sfifeq
%8 Had Bl

(1) (A) T (R) SF1 F 8 3IR (R), (A) BT &l TR0 &
(2) (A) T (R) SF1 T 8 | (R), (A) BT Hel TG T&l &

(3) (A) T TG (R) 39 &

(4) (A) 3R (R) A1 9T &
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100.

101.

102.

103.

104.

Smut and rust disease respectively are caused by
(1) Trichoderma and Puccinia

(2) Colletotrichum and Ustilago

(3) Ustilago and Puccinia

(4) Agaricus and Albugo

Cell wall of diatoms is

(1) Easily destructible and has deposition of sulphur
(2) Nearly indestructible and has deposition of silica
(3) Nearly indestructible and has deposition of sulphur

(4) Easily destructible and has deposition of silica

Which one of the following statements is incorrect w.rt.
basidiomycetes?

(1) Karyogamy and meiosis occurs in basidium
(2) Sexual reproduction does notinvolve sex-organs
(3) Mycelium is branched and septate

Secondary mycelium is short lived but dominant phase
of life cycle

4)

Read the following statements and select the correct the
option.

Statement A: The predominant stage of life cycle a moss
is gametophyte which consists of two stages.

Statement B: The protonema stage of moss bears the sex
organ.

(1) Only statement B is correct
(2) Only statement A is correct
(3) Both statements A and B are correct

(4) Both statements A and B are incorrect

In pteridophytes the sporophylls are borne on
(1) Gametophytes

(2) Sporophytes

(3) Prothallus

(4) Rhizoids

100.

101.

102.

103.

104.

&S 3R fovg T HAeT: fh HROT B 82

(1) gTE@IsH! 3R gfRifar

(2) Pleicigsed qT Secett

(3) STECHTr T glarfaT

(4) TR qR Tesgar

13Uy & HIfdepT Ry

(1) T & famef) et ok S ow T e BT &

(2) AT arfTeft el & oiR g faifeient a1 Fraor e &

(3) @ 3rfeeft Bt & BiR 3HH Hewr T e Bl &

(4) 3T 3 fameft @t 2 ofk 5o fRiferepT ot frramur e &
Sfafeamrsfadia & def A fFrafafEa 5 & wiar wom Tod 82
(1) Poeh-Herd iR TeiRgA-frror Sfafeas = g &

(2) @i U= A oifien 3T anfiet T8 8l &

(3) BT QTR T YSh BNl &

(4) RSP PabSTe, ST-sh b SFedsidl R T el &
T el &1 ufey oiR Hel fdeey a1 9o HifSy|

HYT A: A B ST Fh bl gt Srawen gEdliss & e a
STaReRITY &It 81

BT B: T B T =g 3T H cifiieh 3FT BNl B
(1) HaeT B B TE B

(2) DIt BT A TE B

(3) HUF A 3R B S Hel &

(4) D A IR B &I TeTd §
RSmTgeH | ot 3o 8id §

(1) IHPIEE R

(2) omyfee =

(3) MITH R

(4) HIMN IR
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105.

106.

107.

108.

Prothallus in pteridophytes is multicellular and
(1) Thalloid sporophyte

(2) Mostly photosynthetic

(3) Large and non-green

(4) Small but conspicuous

Read the characteristics given below:

(a) Presence of carrageen

(b) Reproduce vegetatively by fragmentation

(c) Gametes are non-flagellated

(d) Majority of them are found in marine habitat

(e) Cell wall is made up of cellulose, pectin and
polysulphate esters

How many of the above characteristics are true for the
class of algae to which Gelidium belongs?

(1) Four only
(2) Two only
(3) Three only
(4) All five

Mycorrhizal association are commonly found in the roots
of

(1) Pinus

(2) Marchantia
(3) Equisetum
(4) Salvinia

Thallus is dorsiventral and closely appressed to the
substrate in

(1) Funaria

(2) Sphagnum
(3) Polytrichum
(4) Marchantia

105.

106.

107.

108.

RS Merd gk ik
(1) S dS-Sfec Bl 8

(2) JAfEHIeN: HepTerieeTd! 81 &

(3) T q2rT 37BN BT B

(4) BICT WY GEE &I &

o fa g srfireren @t ufev:

(a) 7 IRTM U Brar g

(b) 379 foRg=T GRT DI TY T Yoi=1 81T &

(c) 3T STHATRIHTT T B &

(d) ST & arfgieiera: Te AR A U ST &

(e) ST PIfrepT YT Jege T, Ufere ol iefliethe T¥eR J &+t
Bt g

IRIh F ¥ e rfrererr Sfeifegm | Tefad darefa o & fag
T 82

(1) P TR
(2) %ae a
(3) el I

(4) Tt o
HIGHA T e G-I d: e ot J urm ST 82

(4) Hifearar

T eT=T gSTeR B & SiR I8 o1e:RR ¥ 3rafdd dgferd Ieal
8?2

(1) FgIReT
(2) FHTT

(3) drefigTe
(4) TR
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109. Figure of a pteridophyte plantis shown below.

110.

111.

To which class does this plant belong?
(1) Pteropsida

(2) Psilopsida

(3) Sphenopsida

(4) Lycopsida

Read the following Assertion (A) and Reason (R) and
select the correct option.

Assertion (A): Diatoms, Dinoflagellates and ciliated
protozoans are actively moving organisms.

Reason (R): These organisms possess special locomotory
structures.

Both (A) and (R) are true and (R) is correct explanation
@ ot (a)

Both (A) and (R) are true but (R) is not correct
(2) -
explanation of (A)

(3) Both (A) and (R) are false
(4) Only (A) is true but (R) is false

Choose the binomial
nomenclature.

A. Name of author appears after specific epithet

B. Names are generally in Latin language

C. When handwritten, both generic and specific names are
underlined together

D. Genus name starts with small letter and specific epithet

starts with capital letter
(1) Aand B
(2)BandC
(3)CandD
(4) Aand D

correct statements W.It.

109. %y e SRIPIEE UIey P fok &1 T 8|

IE UIey g o & SicRia 77T 82

(1) RfH=T

(2) HgAITHST
(3) ThHAITEHST
(4) DI

110. ARy HeF (A) TAT BRI (R) BT UV iR FEl fAdved &1

R DI |

DY (A): SISUCH, SEAATereT q2r gearft MersTied afsha
®Y ¥ Tferefier Sfia €

DR (R): 37 Sfial 7 fAfdrs 199 TRem 2l €

(1) (A) T (R) a9 T & 3iR (R), (A) 1 Hel Toefienur &

(2) (A) T (R) SF1 T 8 W (R), (A) FT Te! TG0 T2l &
(3) (A) 3R (R) ST 3 &
(4) I (A) T & I (R) 3 &

111. fue AR & T H F& HUHT Pl T HIfY|

A. ORI BT A, SI-HHaug & G 37T &

B. T AMHFId: e 9T d 8 €

C. sdflf¥d 8 W, 991 /T qem USTiy A/ SF1 P UHare
giferd fama SITeT &

D. J M, BIC 31&R I URFY 81T & 31R Sf-Iohaue, IS 37eR
YR BT &

(1) A3IRB
(2) B3R C
(3) C3RD
(4) ASIRD
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112.

113.

114.

115.

116.

Plasmogamy, dikaryophase, karyogamy, meiosis
All the above given events can be seen in the sexual life
cycle of

(1) Smut fungi and bracket fungi
(2) Morels and bread mould

(3) Rust fungi and Dung mould
(4) Sac fungi and Algal fungi

Select the option that is not depicting the characteristic
feature of Nostoc.

(1) Itis a filamentous blue green algae
(2) Itlacks chlorophyll a
(3) It can fix atmospheric nitrogen

(4) Itis notdependent on other organism for its nutrition

Which of the following statements is not true?
(1) All cellular organisms grow by cell division

In higher plants, growth and reproduction are mutually
inclusive events

@)

(3) Growth can be seen in the non-living objects

Growth cannot be taken as a defining property of living
organisms

4

Identify the incorrect match from the following.
(1) Amoeba — Binary fission

(2) Hydra — Budding

(3) Algae — Fragmentation

(4) Planaria — Multiple fission

ICNB sets rules for the scientific naming of
(1) Plants

(2) Bacteria

(3) Animals

(4) Virus

112.

113.

114.

115.

116.

Siaseera, fadhad-STeaeeT, hed-Herd , T
SR & S Tt T fhd A Sfia-as 7 grff ST Hadht 22

(1) S AP TAT SHC PAD
(2) HIRa 3R g€ Ales

(3) forg THae Ter S Hiee

(4) PN B T dTel T D

I faeped &1 T HIT SN Fiecies &Y 3ifdrererfire faorsar
e arfar 21

(1) T8 U agualt Aie1-8Ra daret &

(2) 389 FARIhe a BT AT BTl &

(3) T8 TSI ATSEITT BT FERRIBRUT R Hebell &
(4) TE AT 90T & fAQ 3= Sfig W R 2 8 &
A o & BT B 9 78 872

(1) T DI e HifrepT o GRT g HRal &

TR el H, gfg 3R uete uReIRes U & FEmaeft seAn
@ e

(3) fFroffa avegali H gfg arft <1 Fepct &

(4) IiE BT HSfAT BT Uep TRATHBRY 0T T&T HHT ST Hebell &
Frfefa 3 & Tera fier 6 ugae SISl

(1) 3Hler— fagsA

(2) &rexr— g

ICNB f&h =T TSR o foig M FrefiRe e 22
(1) 9r<a

(2) Farcien

@) g

(4) I—RH
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117.

118.

119.

120.

121.

Which taxonomic category falls between genus and order?
(1) Class

(2) Family

(3) Division

(4) Species

Family Convolvulaceae belongs to the order
(1) Poales

(2) Polymoniales

(3) Sapindales

(4) Dicotyledonae

According to the five kingdom classification system by R.H.
Whittaker in which pair of kingdom, both autotrophic as
well as heterotrophic mode of nutrition is found?

(1) Protista and fungi
(2) Fungi and Monera
(3) Animalia and Protista

(4) Monera and Protista

Which among the following characteristics is not true for
the members of kingdom Monera?

(1) Membrane bound cell organelles are absent

They are unicellular,
nuclear membrane

prokaryotic organisms with

@

(3) Ribosomes are of 70S type

(4) DNAis circular and double stranded

Which of the following is a photosynthetic free-living
nitrogen fixing bacterium?

(1) Rhizobium
(2) Frankia

(3) Xanthomonas
(4) Anabaena

117.

118.

119.

120.

121.

T AT 0T o 1 pi=T affieh R Herf @retT 872
(1)

(2) ot

(3) AT

(4) T
Di-aicgerd! Hof & 0T & FHT 37T 82
(1) e

(2) UefmifTea

(3) Sfseq

(4) STgBIA ST

IR, Ta. feadan grT & 1 i ST affenser ugfy & JFER, fra
ST g H, 9T Y Tqust qor e Q1 fafert arff s 82

(1) TwET 3R BT
(2) HITS 3R AR

(3) FFIfRRN 3R TifeweT
(4) FFIRT SR TifewET

Freafafed & O oiFar siftreenr 919 g & Il & At 9
8l 87

(1) 37T frefiag PR 3 SFufed 8 &

(2) 3 5 3t Ieh Tepep!RAb I, Wi IATCeD Siid &
(3) 3T 70S &R & AT Bl &

(4) 7T DNA PR T AR I59[D 1T 81T &

frffed § 4 ol e gaeNeerd gE-ofid aEge-
ORI StaT] 82

(1) ¥EfeTH
(2) Wi
(3) TR
(4) T
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122.

123.

124.

125.

Match the list-1 with list-ll and choose the correct option.

[ ]| List-l | || List-n |
| a. || Methanogens || ) || Photoautoroph |
b. || Anabaena (i) Found in marshy
areas

c. || Lactobacillus (iii) [| Found in hot
springs

d. || Thermoacidophiles (iv) || Heterotrophic
mode of nutrition

(1) a-(ii), b-(i), c-(iv), d-(iii)
(2) a-(ii), b-(iv), c-(iii), d-(i)
(3) a-(ii), b-(iii), c-(i), d-(iv)
() a-(iii), b-(iv), c-(i), d-(ii)

Read the following statements.

(a) Oogamous type of sexual reproduction is present.

(b) Male gametes are motile.

(c) Habitat is both, fresh water and marine.

Which of the following options should be incorrect w.rt.
above statements?

1) Statement (a) is true for green algae, brown algae as
well as red algae

(2) Both the statements (a) and (b) are true for green algae

(3) Only statement (b) is correct for green algae

(4) All the statements are correct for green algae

The organisms which are known as the ‘chief producers’ in
the ocean

(1) Have cell walls that form two thin overlapping shells
(2) Are microscopic and flagellated

Are multicellular
pigments

and possess various coloured

©)

Act as photosynthetic in presence of sunlight and
heterotrophic in dark environment

4)

Members of Deuteromycetes are called imperfect fungi
because

(1) Their mycelium is aseptate
(2) Some of its members are parasitic

They are the decomposers of litter and help in mineral
cycling

©)

Only asexual or vegetative phases of these fungi are
known

4

122.

123.

124.

125.

G-I BT A G-Il § BT 3R Tl ey &1 707 SISy

B AT

a. || fre M) || reproreaund 8 €

b. || gersfiar (i) || Sorceft &=t A uig
ST &

c. || ek (i) || =t =1 = urg ey
g

d. || qereRr (V) || o & forea
fafg gorfr 8

(2) a-(ii), b-(i), c-(iv), d-(iii)

(2) a~(ii), b-(iv), c~(ii), d-(i)

(3) a-(ii), b-(iii), c-(i), d-(iv)

(4) a~(iii), b-(iv), c-(i), d-(ii)

frferfard wem o ufeu |

(a) 399 FITIgIhT THR BT e T ST i 21

(b) S R goTa TIferefiet 81 2

(C) SHDT AR FTH-Tef 17 AT T Q1 8l B

IWRIE B & Fe F AT § § dFa RQded Tora aFr
a1ey?

(1) DU (a) 3R Sfardt, s Saret Tor ATeT SareT o foly T &

(2) BRa aTa o Ty e (a) T (b) SF1 §3 &

(3) &R dareT & fAT Baet HeM (b) T &

(4) R darer & forg T+t e wEt &

HENTR H ‘& S’ HEaT™ dlel Sofig

F o=t rferent T gXcht & ST < gcrer srfrenfid st a1 fefor
maﬂ?ﬂ%

(2) G& 3R penfihi 8 €
(3) TEPINHT B & 3R 37 fftysy & aofes &y €

- 6 Ul A udreNiet wu H iR amaeft
(4)®Wﬁﬁwmﬁwﬁwmﬁ%

SICAHIRRICIST & TR 31 31907 dHach el Wl & Fifh

(1) STDT HadITA U BT &

(2) 39 PV TR Woildl 8l &

(3) A PS-PRBC P AT BN & IR WITST ThUT H FERICAT Dl &
(4) 371 HID! DI BT 3Tl IT BRI HTawery Si1d &
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126. Read the following statements.
Statement A : Gametes of brown algae are pyriform
Statement B : Gametes of Ulothrix are non-flagellated but
similar in size.
On the basis of the above statements, choose the correct
option.

(1) Both the statements A and B are true
(2) Both the statements A and B are false
(3) Statement A is true but statement B is false

(4) Statement A is false but statement B is true

127. Observe the figure given below and choose the correct
option for the same.

126. f=fafyd wemi ol ufeu|
BT A : 3 AT & FHD TRIHUI BN &
HU B : 7RI $ D AHATNHI TR T MBR F 8l
gl
IR B! & AR W, Hel f[aved BT = By |

(1) P A 3R B aFi T &
(2) BT A 3R B ST 39T §

(3) T A T & IR HA B ¥ &

(4) P A 3 & WY o B §A &

127. Hy foy 7u R &1 srelleT BT 3R 385b oy e ey a1
T HIATY

(1) Itbelongs to the class Rhodophyceae
(2) Major pigments in them are chlorophyll a and b
(3) Inner layer of rigid cell wall is made up of pectose

(4) It stores food in the form of laminarin

128. Choose the odd one w.r.t. numerical taxonomy.
(1) Numbers and codes are assigned to the characters

()Very less number of possible characters of the
organisms can be considered at a time

Organisation and analysis of data forms the core of this
taxonomy

©)

(4) Itinvolves the use of computers

(1) TEASIHITH o AT AT &

(2) 371 U3 qUTeh FARIThel @ AT b &
(3) 7! 3 DIIET IR Y 37IRes TR Yere ot § &+t Bxclt &
(4) T QT yeTef T o ofmRE & wU H BT &
128. e afiidh! & T § fawd e &1 98- HIfSTl
(1) ST 80T T TReT e e FEE b o €
O U T A 95 ¥ AT A Sfidl & I Freon R far
@) Gy e &
(3) 39 AfTH DT T MR TISH TAT 3T DT AL BIdTT &
(4) T SRR BT STIN NI Bl &
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129.

130.

131.

Select the option containing all the fungi that lack
coenocytic mycelia as well as sex organs.

(1) Trichoderma, Puffball, Ustilago
(2) Claviceps, Agaricus, Alternaria
(3) Albugo, Colletotrichum, Puccinia

(4) Penicilium, Morels, Alternaria

Read the statements given below

Statement A: In bryophytes, an antherozoid fuses with the
egg to produce the zygote which undergoes reduction
division immediately.

Statement B: Mosses are of great ecological importance.

On the basis of
correct options.

the above statements, pick the

(1) Both the statements are true
(2) Both the statements are false
(3) Statement A is true but statement B is false

(4) Statement A is false but statement B is true

Plant body is differentiated in frond, stipe and hold fastin
(1) Porphyra

(2) Laminaria

(3) Ulothrix

(4) Chlamydomonas

132. Which of the following options is false w.r.t. liverworts?

133.

(1) Usually grow in moist and shady habitats
(2) Plant body is thalloid
(3) Asexual reproduction occurs by fragmentation

(4) Sex organs are absent

Gemmae are

(1) Haploid asexual structures
(2) Unicellular

(3) Found only on female thallus

(4) Green and required in sexual reproduction

129.

130.

131.

132.

133.

I e &1 9a= HINT s oy 711 ) Haet § dpifdht
PIHTTeT P TT-TT i flich I T 19T BT &1

(1) ETePIST], udhdiet, Tfecat
(2) T, TR, sfeevRar

3) VesgTTl, PpleicIgIed, gt
(4) v, JiIR, sieevRaT

o Ry 71 BT @Y ufey

DYT A: TRAEESH H, T BT T 3i€ & T 8F F JFAo
Il BT & FOIe gt ST fapTorT 81l 21

HU B: A1 BT A8 RIS 78w g |

IR BT & AR W, Fel fIdved BT TR I |

(1) 31 P T &

(2) S P T &

(3) FA A T 8 R P B A &

(4) BT A 3T & Y P B HA &

T aTed &1y g, SfdT-ga T FRTuT 7 fanifae 8 82
(1) GRBRIT

(2) eE=Rar

(3) gertras

(4) TSI

faRad & Hey # frfalfEa o | aar fdhed Terd 872
(1) 3 FHIS: 79 AT BRIER IR H I &

(2) TP UISY BT ST BIT &

(3) 3T foRde g7 3retfies U BT &

(4) ST cifiTep 3T U B &

ST

(1) 3T S1etfies Tamm &

(2) THDIIHIT B &

(3) P HIET ITH TR UIY A &

(4) 8RB & 3R ¢ ToT H 371aea 8K &
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134.

135.

136.

137.

In gymnosperms 134. s o
Male and female gametophytes have an independent - L
(1) existence (1) TR 3R AT FHBIfSE BT T 37 8l &
(2) Wind pollination can be observed @) WWWWW%
3) Zygote develops into an embryo and ovules develops ! ) )
into covered seeds (3)WWW%W#QQ&QGE’[&T%@?@GE&GQHW
) Multicellular female gametophyte is retained within the & U gRafdd 8l &
microsporangium
g ARl JHBIfeE, Agdiomer & Hfiar ufrenRa
4
@) e
Spirogyra differs from Fucus as the former lacks 135. wrgeiET, wgew | R & if wrge ey § e ear @
(1) Chlorophyll ‘a’
(1) TUTERRT &’
(2) Flagellated male gametes
(3) Non-flagellated male gametes (2) DA R FH D
(4) Thalloid gametophyte 3) STBIRIHRT TR Geieh T
(4) ey gEDIfgR
ZOOLOGY | 5ig fast
Select the option which represents the correct 136. I ffehey Dl I hIAY SIT Teh T TIED wﬁ I T
arrangement of structures involved in sperm transport . . !
starting from the site of production to outside in a healthy g6 DD SR Th Y1 b URIeT H el TR B HE
adult human male. SRR T MU el &
) Epididymis, vasa efferentia, rete testis, vas deferens, . .
urethra (1) ATEIHUT, YehaTiEepTY, JuUT STt YshaTad, TN
Seminiferous tubules, rete testis, vasa efferentia, < S W%Ww T@W
@) epididymis, vas deferens, ejaculatory duct, urethra ) j Afer, EA R ! '
3) Vas deferens, epididymis, vasa efferentia, ejaculatory NGRS =L
duct, urethra o
) Vasa efferentia, epididymis, rete testis, vas deferens, _ _
urethra (4) LepafEeDIV, JHTEGIUT, T STfetepTy, eharedd, LT
Choose the incorrect statement w.r.t. ovaries in a healthy 137. U Ty 9O AfgelT 9 il & Te d Told B BT 9gT

adult human female.

They are the primary sex organs and produce several
steroid hormones.

@)

Each of them is 6-7 cm in length and is covered by a
thin epithelium which encloses the ovarian stroma.

@)

The ovarian stroma is divided into an inner medulla
and a peripheral cortex.

©)

Each of them is connected to the pelvic wall and uterus
by ligaments.

4)

CaIE
(1) 3 AT e 3 8 3IR S TS M- BT IUTe hedl &

ST I TAD Dl TS 6-7 IHT Bt & IR T8 T Uded] SuBbaAT
@) & cepr 2¥err & tatererdt i Y R vad

siererlt Wfat e fidRe Feaier 3R ta uRefT aege
®) et s

(4) 3T A TS TG GRT A7 BT IR Tofery A T 8 &
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138. Menstrual cycle involves certain events. Which of the

139.

140.

following can be observed in the ovulatory phase in a
healthy human female?

(a) Release of ovum

(b) LH surge

(c) Decrease in the progesterone level

(d) Increase in the FSH level

Select the correct option.

(1) (&), (b), (c) and (d)

(2) (a), (b) and (c)

(3) (a), (b) and (d)

(4) (b), (c) and (d)

How many of the plant forms mentioned in the box below
evolved directly from Psilophyton?

Conifers, Seed ferns, Progymnosperms,
Zosterophyllum, Cycads, Ginkgos, Ferns

Choose the correct option.
(1) Six

(2) Four

(3) Seven

(4) Five

According to the MTP (Amendment) act, 2017, opinion of
how many registered medical practitioner(s) islare
required for legal abortion, if the pregnancy has lasted for
more than 94 days but less than 126 days?

(1) One
(2) Two
(3) Three

(4) Abortion cannot be done at this time

139.

140.

138. 3 g W $© HSAN A Bkl §1 Udh Tavel AfeelT H SIS

el A a5 9 T <kaT ST HepdlT 87
OESVEIRIEE]
(b) LH I
(C) TR =R | iR
(d) FSH ¥R 7 gfg
&t ey 1 = HifSiv|
(@) (@), (b), (c) 3R (d)
) (a), (b) 3R (c)
(3) (a), (b) 3R (d)
4) (b), (c) 3R (d)
R Ry MU St § SffRd uey wuf § § fhaw yIer wU 9
HEAPrECH I fIpad gu 82
P, s gurfT, MSEIRTE, STReI%Ea,
el ey 1 = BT

(1) B8
(2) =R
(3) I
(4) =

IfS Tfawer 94 A1 § s1fdias oifd 126 AT & & T &t &1 at
MTP (Fele) SIS, 2017 & HR BT ®U § THUT &
forg o dsfigrd fefdeaant &t < smmaeares gt 82

(1) @
@
(3)
(4) 38 7T THUT S BT ST Havell &
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141.

142.

143.

144.

Which of the following contraceptives prevents conception
by inhibiting ovulation as well as implantation?

(a) Steroidal oral contraceptive pills

(b) Saheli

(c) Implants

(d) Vaults

Choose the correct option.

(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)
(4) (a) and (c)

Consider the following symptoms w.r.t. genital region.

(a) Fluid discharge

(b) Iltching

(c) Slight pain

(d) Swelling

Which of the above symptoms is/are true for most of the
STIs?

(1) (@), (b), (c) and (d)
(2) (b), (c) and (d) only
(3) (c) only

(4) (d) only

Which of the following is incorrectly matched w.rt. type of
fertilisation involved in the stated technique?

(1) GIFT — In-vivo fertilisation
(2) ZIFT — In-vitro fertilisation
(3) ICSI - In-vivo fertilisation

(4) Al — In-vivo fertilisation

Charles Darwin was influenced by a population essay
written by

(1) Thomas Malthus
(2) Hugo de Vries
(3) Alfred Wallace
(4) Herbert Spencer

141.

142.

143.

144.

T 3 § a1 MRS TSIt & -1 R B
RABEHR T BT Adval 82

(a) TRITSA 3fRet TR Mk

(b) T&AT

(c) 3Ry

(d) dieeH

el fGhed &1 = ST

(1) (2) 3R (b)
(2) (b) 3R (c)
(3) (©) 3R (d)
(4) (2) IR (c)

SAME &7 & e # FrfafEd e R fer SIS
(a) TR &G 37T

(b) gorett

(c) BT <& BT

(d) 5T STt

IR A F DI T &7 rfdapier STI & foly el 8722

(1) @), (b), (c) 3R (d)
(2) T (b), (c) TR (d)
(3) 9el (c)
(4) et (d)

TS TS Teb-1ep B QA S & TR & I § fafea d o
et Terd ©u & firer o mam 87

(1) GIFT — g7-faar fvee
(2) ZIFT — g7-fagr e

(3) ICSI — g7-fag e

(4) Al — g7-faar e

TIeH ST fopeich GRT TR R fold T vep ey § yifet 92
(1) & T2y

(2) T S Rt

(3) 3FHS ATl

(4) T TR
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145. Select the incorrect statement among the following w.r.t.

146.

147.

148.

theories of evolution.

Early Greek thinkers thought units of life called spores
were transferred to different planets.

)

Formation of first life on Earth was first demonstrated by
Louis Pasteur.

&)

The idea of chemical evolution was proposed by
Oparin and Haldane.

©)

According to theory of spontaneous generation, the life
came out of decaying matter.

4)

Which of the following is not true w.r.t the theory of special
creation?

(1) Earth is 4000 years old
(2) The diversity was always the same since creation

3) First cellular life form did not possibly originate till about
2000 mya

All living organisms that we see today were created as
such

4)

The idea of embryological support for evolution was
disapproved on careful study performed by

(1) Ernst Heckel

(2) Karl Ernst von Baer
(3) Thomas Malthus
(4) Alfred Wallace

The wall of the uterus has three layers of tissues. Which of
the following layers do/does not exhibit strong contractions
during parturition?

(a) Endometrium

(b) Perimetrium

(c) Myometrium

Select the correct option.

1) (@), (b)
(2) (b). (¢)
3) (a). ()
(4) (c) Only

146.

147.

148.

145. g & Agra & e d F=fafaa 5 O T B &1 T+

BTl
TRMAYS A RERST @1 AT o 6 TR TS SfiaT i
TPreal fAftrst 781 A FHiaRa gs off
gt R T e & 107 o7 Teel Te Uget g WeeR A
(2)%211

ofT

IR A o1 o aMuRe @i gree gRT uwdifad fhar

@) T o7

@

(4) T S & (IGIT B TR Sf 1 &RIPRT uare § 7RI 8
fery o o Rigia & T o Frfafea 3 9 o a1 98 718 82
(1) g2t 4000 T R &

(2) G & 15  fafderdr g9 Ua i off

UEAT DIRMGHR Sl HT Tad: T 2000 Ffe af gdf
REZSSEREECID

(4) s & 91 +oft Fofla Sa €, a ot sg e gl gu o
o & flv goncis w9d9 @1 faR fRas gRT fey 1w

LG LTI GRT DR bR T 71T 12
(1) 3 2be]
(2) PTel ST I SRR

©)

(3) oMY HIeo |
(4) 3RS AT

myfery Y IR F Sad! H I = 8 & FfafEa § 9 ae
R G & SR Tt Tgpa el qerfelt 282

(a) TsHfgaT

(b) affozm

(c) T

el e o1 7 HIf|

(1) (@), (b)
2) (), (©)
3) @), (©)
(4) P ()
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149.

150.

151.

In a 34 days menstrual level of

progesterone will be observed

cycle, the peak

(1) Between 18" to 20t da
y
(2) Between 241 to 301 day
(3) Between 19" to 215t da
y
(4) Between 10t to 17" day

Match column | with column Il and select the correct
option w.rt. human females.

[ || Columni | || Columni |

a. || Mons pubis 0] Partially  covers
the opening of
vagina

b. || Hymen (i) Fleshy folds of
tissue that
surround the

vaginal opening
Covered by skin
and pubic hair

c. || Labia majora

(iii)

d. || Clitoris (iv) || Located above
the urethral
opening

(1) a-(iv), b-(iii), c-(ii), d-(i)
(2) a-(ii), b-(i), c-(iii), d-(iv)
(3) a-(iii), b-(i), c-(ii), d-(iv)
(4) a-(iii), b-(ii), c-(iv), d-(i)

Read the given statements A and B and select the correct
option.

Statement A: To provide right information to young about
sex related aspects, introduction of sex education in
schools should not be encouraged.

Statement B: Creating awareness among people about
various reproduction related aspects is one of the major
tasks under RCH programmes.

(1) Both statements A and B are correct
(2) Both statements A and B are incorrect
(3) Only statement A is incorrect

(4) Only statement B is incorrect

149.

150.

151.

34 11 & 31Ta 7 H, Woree3H a7 < TR g1 ST
(1) 18d¥ 20 A S = d

(2) 243930 d RA B I

(3) 1998 21 A F F=H

(4) 103717 dRA B I 4

DIt | BT BT dictq | T HIfST 3R Ffeetrert & T o T&
Ay &1 9= Hifiv|

DI | DI I

a. || 5eq o W) || erifers Su A &
R P Ehdl &

b. || aifress (i) || = gR BT SR arer
Hdd B AN I
g

C. | ges s (iit) || wrar SR STeF qrett
Y THT & &

d. || e (V) || TeR & SR g
B

(1) a- (iv), b- (i), c- (ii), d- (i)
(2) a- (i), b- (i), c- (iii), d- (iv)

(3) a- (iii), b- (i), c- (ii), d- (iv)

(4) a-(iii), b- (i), c- (iv), d- (i)

27 Tq e A 31k B 1 ufey oiR Wal ey &1 7o Hifd
BT A: a3l 1 A Feaelt Ul & IR H FE THGR USH
FRA & oY, Tpail H AN e b1 gRoTa Y AR Tal far
SISICIE

BT B: T & Faferd faftrsr ugggert & aR F @ A SIrRedar
a1 AT RCH PRIgh! o dad W@ $1IT 4 9 U6 &l

(1) A 3R B 3F o wEl €

(2) A 3R B &FI B TeTd &
(3) HaT PUT AT &

(4) A DA B TTeTd &
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152.

153.

154.

Assertion (A) : Due to the continental drift, pouched
mammals of Australia survived but North American fauna
did not.

Reason (R) : There was lack of competition from any other
mammal in North America but Australian fauna faced huge
competition.

In the light of the above statements, choose the correct
answer from the options given below.

Both (A) and (R) are true and (R) is the correct
explanation of (A)

@)

Both (A) and (R) are true but (R) is not the correct
explanation of (A)

@)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

Listed below are few information.

(a) Hunted with stone weapons

(b) Essentially ate fruit

(c) Existed two mya and probably lived in East African
grasslands

All of the information mentioned above hold true for

(1) Homo sapiens
(2) Homo erectus
(3) Neanderthal man

(4) Australopithecines

In human males, the interstitial spaces in the testes do not
contain

(a) Sertoli cells

(b) Spermatogonia

(c) Immunocompetent cells

Choose the correct option.

(1) (a) and (c)
(2) (b) and (c)
(3) (a) and (b)
(4) (@), (b) and (c)

152.

153.

154.

DU (A): TSR UATE & HRYT, Aot & defigh Taart
S 22 eifse STt smReY Sia =& s/ g

PROT (R): I 3ARET A et oft o et & wforeuer =& oft
ifeh eieg forans Sfial &1 srafeier uferaef a1 T e e
IRIB HYAT & ey H, i g 70 fIwedl § & 98 ST &7 T
SIS

(1) (A) 3R (R) 31 H&l £ 3iR (R), (A) 1 Het Toefiaur &

(2) (A) 3R (R) IFIT FaT 8 oIfd (R), (A) BT Hal FIRHRY T8l &
(3) (A) FE & af (R) ToraT &

(4) (A) 3R (R) 3FI1 TeTd &

F e SITHRT & TS B

(a) TR & ERIIRT & fIrpR B &

(b) 3TFar ®U ¥ et @reT

(c) A mya AI[E & 3R FYaeT: gl It & oT & HSMI A W&d o
SR & TS Tt THBRY freres forg TE 872

(1) 81 St

(2) &Ml g¥acH

(3) fFideRereT AT

(4) STt~

TSI & gyl H SR Sraeren A & sl &
(a) Eelef! BIfEPIY

(b) geproLSTT

(c) URRemTTer PHfrHT
&Y b T T T

(1) (@) 3R ()
(2) (b) 3R (c)
(3) (2) 3R (b)
@) (@), (b) 3R (c)
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155. Read the following statement (A) and statement (B) w.r.t.
morula and choose the correct option.
Statement (A) : The embryo with 8-16 blastomeres is
called morula.
Statement (B) : The size of morula in human is smaller
than a fertilized egg.

(1) Both the statements are correct
(2) Both the statements are incorrect
(3) Statement (B) is correct

(4) Statement (A) is correct

156. Observe the figure given below and select the correct
option.

(1) A =Cells of corona radiata, B = Perivitelline space
(2) C = Perivitelline space, D = Cells of corona radiata
(3) B =Zona pellucida, C = Corona radiata

(4) A =Sperm, B = Perivitelline space

157. In humans, by the end of the
foetus develops .
Select the option to fill the blanks correctly.

of preghancy the

(1) 4 weeks; major organ systems

(2) 2"d month; limbs and digits
(3) 12 weeks; fine hair on the body

(4) 3" month: separated eye-lids

155. gaw & weof A Frafafd wem (A) iR w2 (B) &1 ufeu iR wat
e &1 9+ ISl
HUF (A): 8-16 PRHES dTel YUT 1 P Bl AT 2
HYF (B): TG H I BT 3THR Ffr s I sieT 8 g

(1) SF BT TE B
(2) I B TeId 8

(3) PU (B) WEl &

(4) D (A) WET &
156. iy fog q ot T ractIfdha DIfoig 3R HeT e 1 9o BHifoT|

L1

(1) A = DRHFTFETET 6T PIABN, B = uRUTH raerer
(2) C = uRUIde 1@, D = HRATIFSTET Dl DB
(3) B = SHT UegfRel, C = HRMTIfTeT
(4) A= Lh1U], B = GRUTTe 3reeprel

157. g o, mifaven s FeAdeyus_ fefds
ST &l
ek T2 @1 el & F R & folg fepew a1 9o I
(1) T THTE; TG 3T
(2) R AE; U SR Sigferat
(3) 127 FHTE; IRR W P a1
(4) TR HTE; STT-3TAT Ut
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158.

159.

160.

161.

162.

Choose the correct path of milk transport in a lactating
mother.

Mammary alveoli — Lactiferous ducts — Mammary
ampullae — Mammary ducts

)

Mammary alveoli — Mammary ampullae — Mammary
ducts — Lactiferous ducts

&)

Mammary alveoli — Mammary tubules — Mammary
ducts —Mammary ampullae — Lactiferous ducts

©)

Mammary alveoli — Mammary ducts — Mammary
tubules — Mammary ampullae — Lactiferous ducts

4)

According to Darwin, the process in which heritable
variations enabling better survival are enabled to
reproduce and leave greater number of progeny, is called

(1) Genetic drift
(2) Mutation
(3) Natural selection

(4) Founder's effect

Suppose in a population of 1600 individuals which is in
Hardy-Weinberg equilibrium, 256 are recessive then
calculate the difference between the frequencies of
dominant and recessive allele and select the correct
option.

(1) 0.2
(2) 0.8
(3) 0.6
(4) 0.34

In human sperm, spirally arranged mitochondria are
presentin

(1) Head portion
(2) Middle piece
(3) Neck

(4) Tail

The male sex accessory ducts include
(1) Rete testis and vasa efferentia only

Rete testis, vasa efferentia, seminiferous tubule and
vas deferens

@)

Rete testis, vasa efferentia, epididymis and vas
deferens

©)

(4) Epididymis, seminiferous tubule and vas deferens

159.

160.

161.

162.

158. wFU PRI dret 7T 5 g b URGE b Fel AT Bl o Dol

(1) &F Bl gy e[l — & iaer —& aiefar
(2) T PUBN & i1 & Al —gu aifFri
T PRBN T APy & ARSI —&F et
—g qIRFr

T PPN ¥ el ¥ el - Jfiepr
g it

S & SFTHR I8 Hichar o arfdies Sfaem dergaa fafderar a1
S & 3fdie TR fAerd & 3R IaM aifde Teard Sae el 8,
PEAT &

(1) ATf3rep 3rudrs
(2) SafacH

(3) Tpferep T
(4) TEATID TG

qHT 1600 AT 6 v qqf¥ o) grel-=e 9y ¥ &, 9§ 256
3T Bt gHTt iRt srefiet &t Mgl & i iR &t
TOT HIIY 3R T faehed o1 T Hifav|

(1) 0.2
) 038
(3) 06
(4) 0.34

©)

4

TG 1] ISR U § Taf eI ATSE 1o ifogaT SUferd 8l &
(1) Lo o ofef 7y

(2) TP &S eI G H

(3) LeP1Y 1 Iter §

(4) ZPY S o H

TN I TED ol 1 Afciaprall H SMie &

O EESEUIREACIEICEIEEII

(2) U SABI , YehalfeedIV, Yeporieh AfciepT 3R YeparedD
(3) IO AT , YeharieaTy, Tferguur 3iiR erarsd

(4) STTEGIT, gehorieh AfcianT 3R gevared
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163. The shedding of endometrium during menstruation occurs
due to decline in concentration of

(1) Estrogen

(2) Progesterone
(3) Oxytocin

(4) FSH

164. Selectthe correct match w.r.t humans.

Spermatozoa are transformed into

(1) Spermiogenesis — spermatids

Release of spermatozoa into the

(2) Spermiation — . i iterous tubules

Initiated by decrease in estrogen and

(3) Parturition — .
progesterone ratio

Middle layer of uterus undergoes

(4) Menstruation — .
maximum changes

165. Foetal ejection reflex triggers the release of
(1) Androgens from foetal pituitary
(2) Oxytocin from maternal pituitary
(3) Relaxin from foetal ovary

(4) Oxytocin from maternal adrenal glands

166. In human male, the ejaculatory duct is formed by the fusion
of

(1) Duct of seminal vesicle + Vas deferens
(2) Rete testis + Vasa efferentia
(3) Epididymis + Vas deferens

(4) Duct of prostate gland + Vasa efferentia

163. A1gaRt & SRM TSHICTH &1 3UgrH

fiRTIE & HRUT BT &
(1) TEO

(2) MR
OELESISISE

(4) FSH
164. =i & Hf 7 TE et o1 T BT |

1) wffcRRe — e R HuiaRd & o &

(2) FAHTE — YehoTieh AfIPISN H THCISAISTT BT HITH

©) g — TR AR TSR o H et 2 9% B &

(4) srgart _ moyfera &Y Hea e o arfird ™ gRad 2 ¥
165. mf Iegrgur ufcre fahges A b1 ARG BT 87

(1) AT g S wugor

(2) T gy 9 e

(3) T sieier F Retfer

(4) 71 sifeiga Gt § sadefaT
166. goy &, Wger afert e Horad § a+clt 82

(1) LEP1T 1 dTfeT + Yehared

(2) INUT SATfeAehT + YehdTiedT

(3) HATIYT + YeharTeeh
(4) URECT 3D Y anfet + gharfaant
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167.

168.

169.

170.

Assertion (A): In humans, male gamete possesses
locomotory structure whereas female gamete does not.
Reason (R): The sperms have to swim rapidly and pass
through cervix, enter into uterus and finally reach the
fimbriae regions of oviducts for fertilisation.

In the light of above statements, choose the correct option.

Both (A) and (R) are true and (R) is the correct
explanation of (A).

)

Both (A) and (R) are true but (R) is not the correct
explanation of (A).

2
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

Read the following statements A and B and choose the
correct option.

Statement A: Evolution is a stochastic process based on
chance events in nature and chance mutations in the
organisms.

Statement B: When more than one adaptive radiations
appeared to have occurred in an isolated geographical
area, one can call this convergent evolution.

(1) Both statements A and B are incorrect
(2) Only statement A is correct
(3) Only statement B is correct

(4) Both statements A and B are correct

The biggest reptile with huge fearsome dagger-like teeth
was

(1) Brachiosaurus
(2) Tyrannosaurus rex
(3) Triceratops

(4) Stegosaurus

In a hypothetical scenario, birds with average-sized wings
survived more successfully in a severe storm than birds
with longer or shorter wings. Itis an example of

(1) Diversifying selection
(2) Stabilising selection
(3) Directional selection

(4) Co-evolution

167.

168.

169.

170.

B (A): AT H, TR D § TSGR GRIT BNl & SAafd AT
e 4 8|

PR (R): LT 1 ol I cRaw Tfery diar & graw mfer §
AT AT BIT & SR 3 H v & foIy sfeanfzfal & wer &
T UgaT &Il &1

IRRE BT & T H, T& ey o1 = HifSivl

(1) (A) 3R (R) 31 HEl & 3R (R), (A) P TEl ez &

(2) (A) 3R (R) I FaT & oIfdh (R), (A) DT Hel AT T8l &
(3) (A) TE & olf (R) TotaT &

(4) (A) 3R (R) 31 TeTd &

AT wemt A 3R B @1 ufeu 3iik T8t fidey &1 9= HifS|
H A: fapT U IR Uk & ST Uil H B aTet! JaReTy
T3 3R ShaT H FARTST SARacH TR MR 8l

B B: 919 T GIh HIIfcier &4 H T  3feie argepe! fafehvor
gac BId & dF 39 IR e aeT ST B

(1) A 3R B ST o Terd &

(2) $IA AT A TEl B

(3) B P B Hel &

(4) A 3R B EFI B W8 §

f3eTTeT SX1eM eR S Sl aTelT e aeT Jrgy off

TS PHIed~dh UGS H, 3 JMHR & Ul aret Uaft oid a1 BIc wal
arel gfér &Y gorT | rafded qEE A Sifdid Aherargde S
| I8 et U ITERT 272

(O EEENIERYI
(2) TRIBRSD aRUT

(3) e aRur

(4) W&-fapr
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171. Around 200 mya, some of the land reptiles went back into

172.

173.

174.

175.

water and evolved into fish like reptiles called
(1) Ichthyosaurs

(2) Amphibians

(3) Birds

(4) Mammals

Thorns of Bougainvillea and
Cucurbita represent all, except

(1) Divergent evolution
(2) Common ancestry
(3) Convergent evolution

(4) Homology

Match the following w.r.t. convergent evolution.

| [[columni]| |[columnii |
| Bobcat ||Tasmanian wolf |
|WOIf ||Tasmanian tiger cat|
|Anteater ||Marsupial mole |
[d][Mole |[(iv)|[Numbat |

Choose the correct option.
(1) a(i), b(ii), c(iii), d(iv)
(2) a(iv), b(i), c(ii), d(iii)
(3) a(ii), b(iv), c(i), d(iii)
(4) a(ii), b(i), c(iv), d(iii)

Neanderthal man differs from modern Homo sapiens in

(1) Having higher cranial capacity
(2) Having lower cranial capacity
(3) Having erect posture

(4) Being a hominid

tendrils

of

Which of the following is the correct sequence of

embryonic development stages?

(1) Zygote — Morula - Blastocyst —» Gastrula
(2) Morula — Zygote — Blastocyst —» Gastrula
(3) Blastocyst — Zygote — Gastrula — Morula
(4) Gastrula - Zygote - Blastocyst — Morula

172.

173.

174.

175.

171. FT 200 mya, $8 Fefellg TRNGY A" STel A det T 3R Tt

S FRIGT b B H b Ad Y, 376 T el R ?
(1) sfrrIERY

(2) SHIR

(3) weft

(4) THLIR

ghFRfarar s wic 3R FgPeierd uar frad iR swa aft

P! el e €2
(1) ORI fepre
(2) S T
(3) AFER feepr e
(4) FESITTAT

PR A & e o frfaf@d o fira Hifaivl

Ffemi | |[@remn
| A [y | e
o [ i) |[eremren creme e
fu‘ﬁ@wﬁmﬁﬁaafﬁw
T BYN ﬁmﬁz
ﬂ_é’rﬁmao‘r%aﬁﬁm

(1) a (i), b (ii), ¢ (iii), d (iv)
(2) a (iv), b i), ¢ (ii), d (iii)
(3) a (i), b (iv), ¢ (i), d (iii)
(4) a (i), b (i), c (iv), d (iii)

FvSReIeT A STE1h 8191 i3 fha TerT 82

(1) o9 PUTE &7 8

(2) P &HAT HH B H

(3) Mo T

@) e R 4

ufler uRee vl o7 el A &4l 57

(1) THTT — HReAT — PRDYCS — Tl

(2) AT — FHAS — DRPYE! — Tl

(3) PRDBYST — FHAS — IRl — HRoedT

(4) RGAT - FHAS — DRDYCT — FRoAT
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176.

177.

178.

179.

Which of the following contraceptive devices provide an
additional benefit of protecting the users from contracting
STIs like AIDS?

(1) Diaphragms
(2) Condoms
(3) Vaults

(4) Cervical caps

The contraceptive devices inserted mainly by the doctors
or expert nurses in the uterus through vagina in human
females are

(1) Implants
(2) IUDs
(3) Cervical caps

(4) Diaphragms

Infertility cases either due to inability of the male partner to
inseminate the female or due to very low sperm counts in
the ejaculate are mostly corrected by

(1) Al
(2) ZIFT
(3) GIFT
@) IuT

Choose the STI among the following which can be cured if
detected early and treated properly.

(1) Hepatitis-B

(2) Genital herpes
(3) Genital warts
(4) HIV infections

176.

177.

178.

179.

frafafed 3 § o mfFRgs gie Swammatst o ted SN
STI 3 5919 BT 3TRIRE AT T Bl 87

(1) SHTHH

(2) HeM

(3) diee

(4) Tfery Far St

I TR fhdT B & ST AleeTiall § 9EF 9 S/’ AT
freret =1t g1 A & ATz & Tfery J ufw i Wl &2

(1) SFRTT

(2) lUDs

(3) ey et St

(4) SHTHH

ooy qeft GRT Afeel &l dIHRE S A sHdr & SR AT
BRI H YTV Dl 5 HH T 8 b PRI & Alel LIl Db
AT &1 AR sifaierd: ST 3T ST B
(1) Al

(2) ZIFT

(3) GIFT

(4) UT

frafafad 5 3 39 STI @1 999 HIfST e aft et a1 ad
T TR ST ST fham STTe dt 39 Sl T 7T ehdt &

(1) BerEieH-B
(2) S gRed
(3) fie T=

(4) HIV FgpHUT
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180. At the time of our independence, India's population was 180. Tl & T9g, URd $Hf oEwar A oft 3k 98 2011 H
A and crossed B in May 2011. o1 " —
Choose the option that correctly fills the blanks (A) and _B PTIRMRT|
(B).
|:||A B | I ey &1 7o HIRTY o Reh T (A) de1 (B) HT et |&t 3
[(1)][350 million|[35 billion ] P B
[(2)]|[35 million ][1. 2 billion| A B |
[(3)|[350 million][1. 2 billion] ()|[350 Rifere[35 Riferm
[(4)|[35 million ][35 billion | —
(2)||35 g ||1.2 fafeta=
1 @ ——
2 @) (3)||350 Mrferz|| 1.2 fafeta=
3 @ (4)[[35 Bt |[35 et
4) (4) 1) )
@ @)
ONC)
4) 4
Scan the QR Code for (Scan the QR Code to know

i Detailed Video Solutions

(*Video will be available to access post
8 p.m. on 28" March, 2025 onwards)

i "How FTS Helps in Reviving
{ Forgotten Concepts in NEET Exam")
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